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Section : Part A General Intelligence and Reasoning

Q.1 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 65497831153
Status : Answered
Chosen Option : 1

Q.2 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.LOPK
X 2.EVIR
& 3. CXGV
X 4.HSLO

Question ID : 65497831133
Status : Answered
Chosen Option : 3




Ans o 1.2522266718212
< 2.2505016718212
< 3.2022266818222
X 4.2522268719215

Q.3 In a certain code language, 'NOTION' is coded as '13127181213'. How will 'BEAUTIFY"*
be coded in that language?

Question ID : 65497831134
Status : Answered
Chosen Option : 1

Ans X 1.BSHZQEZB

X 2. ZHSBQZQH
" 3. SEZQBQHZ
X 4. SEZQHZBQ

Q.4 In a certain code language, KILOGRAM is written as LZQFNKHJ. How will AIRCRAFT
be written in that language?

Question ID : 65497831143
Status : Answered
Chosen Option : 3

Ans 1. PSXUKX
X 2. PXSUXK
X 3. QRYVLY
X 4. PSXVLX

METHOD : OIZPYP :: NORMAL : ?

Q.5 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Question ID : 65497831142
Status : Answered
Chosen Option : 1
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that will be on the face opposite to the face having '6".

Q.6 Two different positions of the same dice are shown, the six faces of which are numbered from 1 to 6. Select the number

Question ID : 65497831140
Status : Answered
Chosen Option : 1




Q.7 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
Some stars are planets.
Some planets are comets.

Conclusions:
. Some comets are planets.
1l. All stars are comets.

Ans  &# 1. Only conclusion | follows
25 2. Only conclusion Il follows
25 3. Both conclusions | and Il follow

& 4. Neither conclusion | nor Il follows

Question ID : 65497831150
Status : Answered
Chosen Option : 4

Q.8 Select the figure from among the given options that can replace the question mark (?) in the following series.
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Question ID : 65497831148
Status : Answered
Chosen Option : 4




Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

16, 9, 27, 19, 76, 67, 335, ?
Ans X 1.650

 2.325

X 3.415

X 4.90

Question ID : 65497831135
Status : Answered
Chosen Option : 4

Q.10 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

P_RQPS__P__Q_SR_P_RQ
Ans « 1. SRQSRPQS
# 2. SRSQRPQS
3. QRQSRPQS
7 4. SQQSRPQS

Question ID : 65497831146
Status : Answered
Chosen Option : 1

Q.11 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

UG, AE, GG, M|, SK, ?
Ans X 1.LM
2. YM
X 3.Y0
X 4. WN

Question ID : 65497831154
Status : Answered
Chosen Option : 2

Q.12 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth

number.
16:256::21:7?::19: 361
Ans o 1441
X 2.324
X 3.422
X 4.484

Question ID : 65497831138
Status : Answered
Chosen Option : 1




Q.13 315 i, P, Q, R, S, T, U, V 3R W, T T AW & URa: 50 Hg @t 3R R giee
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Ans X 1.T
X 2P
¢ 3.Q
X 4.R

Question ID : 65497831137
Status : Answered
Chosen Option : 3

Q.14 Two years ago, T was twice as old as P. P is thrice as old as R. In five years, P will be
29. What is the present age of T?

Ans X 1.42
< 2.48
X 3.44
o 4.46

Question ID : 65497831152
Status : Answered
Chosen Option : 2

Q.15 select the correct mirror image of the given combination when the mirror is placed at the right side.

sXg5AY

" xAVeépxe
~YACpXe
«-+YAcpXea
~~YAGpXxe

Question ID : 65497831136
Status : Answered
Chosen Option : 3
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Ans .z 1 A
X 2.9
X 3|
X 4. A8 w5

Question ID : 65497831144
Status : Answered
Chosen Option : 1




Q.17 In a certain code language, ‘ABSTRACT’ is written as ‘IlYYVDEU’. How will ‘INSTINCT’

be written in that language?
Ans X 1. QUYYNPEU

o 2. OUYYMQEU
< 3. OUYYNQEU
% 4. QUYYPMEU

Question ID : 65497831149
Status : Answered
Chosen Option : 1

Q.18 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Creditor

2. Creature

3. Credible

4. Creditable
5. Credentials

Ans X 1.2,51,3 4
X 22,5431
& 3.2,53 4,1
X< 4.3,51,4,2

Question ID : 65497831145
Status : Answered
Chosen Option : 3

Q.19 Which of the given equations is correctly balanced if ‘A’ means ‘+’, ‘B’ means ‘-’, ‘C’

means ‘%’, and ‘D’ means ‘+’?
Ans X 1.66B2D54C18=135

X 2.45A5C7D14=77
o 3.45D5C7A14=77
X 4.66C2B54D18=135

Question ID : 65497831139
Status : Answered
Chosen Option : 3

Q.20 Select the number from among the given options that can replace the question mark

(?) in the following series.
240, 258, 278, 300, ?
Ans o # 1.324
K 2.312
25 3.400
X 4.355

Question ID : 65497831147
Status : Answered
Chosen Option : 1




Q.21 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

57 28 29
68 ? 33
72 37 35

Ans X 1.34
X 2.33
& 3.35
X 4.29

Question ID : 65497831151
Status : Answered
Chosen Option : 2

Q.22 ‘Complicated’ is related to ‘Simple’ in the same way as ‘Shrink’ is relatedto *___
Ans 4" 1. Expand
& 2. Execute
2 3. Shorten
5 4. Narrow

Question ID : 65497831155
Status : Answered
Chosen Option : 1

Q.23 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

Question ID : 65497831141
Status : Answered
Chosen Ontion = 3




Q.24 Select the Venn diagram that correctly represents the relationship between the following classes.

Mothers. Fathers, Men

-0

Question ID : 65497831157
Status : Answered
Chosen Option : 2

Q.25 ©: fiT A, B, C, D, E 3R F Uw Aeft &fast ufda & Iwv oY ok 4g $7b 33 gUEI B, F o
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21 B ¥ T3 3R g VM R I 937 32

Ans X 1.E
X 2.F
o 3.A
X 4.D

Question ID : 65497831156
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 As per an announcement made by the Chairman of ISRO on 6 September 2021,
Chandrayaan-2 had completed revolutions of the Moon.

Ans 4 1.9000
X 2. 12000
X 3. 15000
< 4.11000

Question ID : 65497831180
Status : Not Answered
Chosen Option : --




Q.2 Which country is regarded as the origin of SUMO Wrestling game?
Ans 1. Japan

25 2. Vietnam
25 3. Indonesia
X 4. South Korea

Question ID : 65497831161
Status : Answered
Chosen Option : 1

Q.3 Who is known as the 'Father of Microeconomics'?
Ans X 1. Paul Krugman

& 2. Milton Friedman
X 3. James J Heckman
" 4. Alfred Marshall

Question ID : 65497831178
Status : Not Answered
Chosen Option : --

Q.4 The Deputy Speaker of the Lok Sabha is removed from his office by:
Ans X 1.the order of the Vice-President of India

& 2. the order of the Comptroller and Auditor-General of India

«" 3. aresolution of the Lok Sabha passed by a majority of all the then members of the
Lok Sabha

25 4. the order of the Attorney-General for India

Question ID : 65497831169
Status : Answered
Chosen Option : 3

Q.5 CNG stands for which among the following?
Ans X 1. Cardiac nerve grid

#< 2. Coal and natural gases
¥ 3. Compressed natural gas

25 4. Chemically neutral gene

Question ID : 65497831171
Status : Answered
Chosen Option : 3

Q.6 Till which year was Bangladesh a part of Pakistan?
Ans X 1.1962

X 2.1974
o 3.1971
< 4.1956

Question ID : 65497831179
Status : Answered
Chosen Option : 3




Q.7 Which of the following was NOT a Mesopotamian language?
Ans X 1. Elamite

25 2. Amorite
< 3. Akkadian
¥ 4. Sumerian

Question ID : 65497831177
Status : Answered
Chosen Option : 4

Q.8 Who among the following was instrumental in declaring Awadh a disturbed region
requiring it to be brought under British control?

Ans X 1. Lord Wellesley
" 2. Lord Dalhousie
& 3. Lord Canning
< 4. Lord Ripon

Question ID : 65497831173
Status : Answered
Chosen Option : 2

Q.9 How many seats did the Indian National Congress win at the Bihar Assembly Elections
held during October-November, 2020?

Ans X 1.22
X 2.15
% 3.10
o 4.19

Question ID : 65497831174
Status : Answered
Chosen Option : 4

Q.10 Which of the following is the Sl base unit for photometry — the science of measuring
light as perceived by the human visual system?

Ans X 1. Ampere
5 2. Mole
" 3. Candela
& 4. Kelvin

Question ID : 65497831165
Status : Answered
Chosen Option : 3

Q.11 In which of the following cities of India is the ‘Saptak Music Festival’ celebrated?
Ans  # 1. Ahmedabad

5 2. Lucknow
25 3. Bhopal
& 4. Amritsar

Question ID : 65497831158
Status : Answered
Chosen Option : 4




Q.12 Who is the author of the book 'Two Lives'?
Ans X 1.VS Naipaul

25 2. Arvind Adiga
X 3. Salman Rusdie
¥ 4.V kram Seth

Question ID : 65497831160
Status : Not Answered
Chosen Option : --

Q.13 In August 2021, Prime Minister Narendra Modi announced that the Rajiv Gandhi Khel
Ratna Award would be renamed to

Ans X 1. Ekalavya Khel Ratna Award
X 2. Vijay Hazare Khel Ratna Award
< 3. Dronacharya Khel Ratna Award
«" 4. Major Dhyan Chand Khel Ratna Award

Question ID : 65497831182
Status : Answered
Chosen Option : 4

Q.14 With reference to India's freedom movement, which Prime Minister of Great Britain
announced the Communal Award in 1932?

Ans X 1. Neville Chamberlain
2. Sir Winston Churchill
< 3. Stanley Baldwin

¥ 4. James Ramsay MacDonald

Question ID : 65497831168
Status : Not Answered
Chosen Option : --

Q.15 In which city did the freedom fighter Chandrashekhar Azad shoot himself on being
besieged by the British police?

Ans X 1. Jabalpur
5 2. Kanpur
" 3. Allahabad
/4. Bhopal

Question ID : 65497831167
Status : Not Answered
Chosen Option : --

Q.16 The Kadam dam is located at the confluence of the Kadam river into
Ans X 1. Sharavati

" 2. Godavari
< 3. Kabini
& 4. Kaveri

Question ID : 65497831181
Status : Not Answered
Chosen Option : --




Q.17 In November 2020, WhatsApp partnered with five Indian banks to process its payment
services. Which of the following banks is NOT one of the five banks in that list?

Ans X 1. Axis

4 2. Bank of India

& 3.HDFC

X 4. Jio Payments Bank

Question ID : 65497831175
Status : Answered
Chosen Option : 4

Q.18 According to APEDA report 2020 which Indian state has the highest percentage of
commercially cultivated floriculture?

Ans o 1. Tamil Nadu

< 2. Maharashtra

X 3. Karnataka

& 4. Madhya Pradesh

Question ID : 65497831159
Status : Answered
Chosen Option : 2

Q.19 When the caterpillar is ready to enter the next stage of its life cycle called , it
first weaves a net to hold itself.

Ans X 1.egg
«" 2. pupa
X 3. late cocoon

25 4. early cocoon

Question ID : 65497831164
Status : Answered
Chosen Option : 2

Q.20 India is ranked at the place in the ‘Climate Change Performance Index (CCPI)
2021’, which was released on 7 December 2020.

Ans o 1.10th
< 2.15th

X 3. 11th
X 4.20th

Question ID : 65497831170
Status : Answered
Chosen Option : 1

Q.21 Who among the following was awarded the 2020 Tyler Prize for Environmental
Achievement on 27 January 20207

Ans X 1.Partha S Dasgupta
4" 2. Pavan Sukhdev
X 3. Jyoti Parkh
& 4. Madhav Gadgil

Question ID : 65497831166
Status : Not Answered
Chosen Option : --




Q.22 In which of the following states is the Yumthang Valley located?
Ans X 1. Uttarakhand

25 2. Himachal Pradesh
25 3. Nagaland
o 4. Skkim

Question ID : 65497831172
Status : Answered
Chosen Option : 4

Q.23 What is the ratio of money held by public in currency to that they hold in bank
deposits called?

Ans X 1. Reserve Deposit Ratio
#5 2. Cash Reserve Ratio
«# 3. Currency Deposit Ratio
< 4. Statutory Liquidity Ratio

Question ID : 65497831176
Status : Answered
Chosen Option : 4

Q.24 Who among the following dancers is best known for the renaissance of the
’Bharatnatyam’ dance form?

Ans X 1. Mallika Sarabhai
25 2. Yamini Krishnamurthy
4" 3. Rukmani Devi Arundale
< 4. Alarmel Valli

Question ID : 65497831163
Status : Answered
Chosen Option : 2

Q.25 The International Cricket Council (ICC) Board announced a minimum age policy for
International cricket in November 2020. As per the policy, a player must be at least
to play cricket globally.

Ans X 1.16 years old
¥ 2. 15 years old
25 3. 14 years old
2 4.13 years old

Question ID : 65497831162
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics




Q1 33 1[a 1 7 5 4
The value of — + — [—— - X (—— —)] — - is:
40 5 5 5

5 8 4

Ans 1
o1 —
5

. 1
X2 -
4

. 1
X3 =
7

. 1
X4 =
3

Question ID : 65497831195
Status : Answered
Chosen Option : 1

(251)%+(249)%
5.1%25.1-624,99+24,9%X24.9

is 5 X 10%, where the value of k is:

The value of 5

Ans 21 4
X26
X3 3
X4 5

Question ID : 65497831192
Status : Answered
Chosen Option : 1

Q.3 A shopkeeper buys a table fan marked at 2,600 on 18% discount. He marked it for 22,800 and allows a 15% discount.

How much does he earn?

Ans X 1. 3420
X 2. 3200
X 33220
4 2248

Question ID : 65497831183
Status : Answered
Chosen Option : 4

Q.4 Acando acertain work in 15 days. B is 10% less efficient than A, and C is 20% more efficient than A. All the three

work together for 3 days. The remaining work is completed by D alone in 9% days. D alone can complete the original

work in:

Ans X 1. 18 days
X 2. 15 days
« 3. 25 days
X 4. 20 days

Question ID : 65497831206
Status : Not Answered
Chosen Option : --




Q.5 Pipes A and B can empty a full tank in 15 minutes and 20 minutes, respectively, while pipe C alone can fill the empty
tank in 8 minutes. If pipes A, B and C are opened together, then in how many hours will the tank be filled?

Ans X125
X2 15
3 2
x4 3

Question ID : 65497831194
Status : Answered
Chosen Option : 3

Q.6 A factory requires 56 machines to manufacture a given number of articles in 144 days. How many machines will be

required to produee the same number of articles in 96 days?
Ans 1. 53
2 84
X3 77
x4 8l

Question ID : 65497831190
Status : Answered
Chosen Option : 2

Q.7 The average height of 20 students of class 8 is 152 cm and the average height of 15 students of class 9 is 168 cm. What
is the average height (to the nearest cm) of the students of both classes?

Ans 1. 159
X2 160
X 3. 157
X4 158

Question ID : 65497831189
Status : Answered
Chosen Option : 1

Q.8 Asumof 373,500 is divided among A, B, C and D in the ratio 3 : 7: 9 : 11, respectively. What is the sum of the shares
of A and D?

Ans 1 334,300
X 2. 339,200
X 3. 324,500
X 4. 329,400

Question ID : 65497831184
Status : Answered
Chosen Option : 1




Q.9

Ans

Five years ago. the average age of A, B and C was 20 years. Six years ago, the average age of B and C was 9 years.
What will be the age (in years) of A 3 years from now?

X 1. 41
o2 48
X 3. 45
X 4. 47

Question ID : 65497831203
Status : Answered
Chosen Option : 2

Q.10 The difference between the height and the radius of a solid cylinder is 23 cm. The total surface area of the cylinder is

Ans

1628 cm?. The height and the radius of the cylinder, respectively, are (take T = ? ):

X1 33cm, 10 cm
2 30cm. 7 cm
23 32cm, 09 cm

X4 28cm. 5Scm

Question ID : 65497831201
Status : Not Answered
Chosen Option : --

Q.11 The number of years taken for a sum of T5,000 to become T5,832 at a rate of 16 % per annum compounded half yearly,

Ans

will be:

X 1. L.5 years
. 1

X2 S year
X 3 2vyears

4. 1 year

Question ID : 65497831200
Status : Answered
Chosen Option : 4

Q.12 If 25% of x is 40 less than 30% of (x + 60), then 35% of (x — 40) is what percentage more than 120?

Ans

@ 162%
X2 20%
x3. 12%%

X4 25%

Question ID : 65497831205
Status : Not Answered
Chosen Option : --




Ans 1. 37
X2 23
X3 22
X 4. 30

Q.13 What is the least number added to 2483 so that it is completely divisible by 3, 4. 5 and 6?7

Question ID : 65497831197
Status : Answered
Chosen Option : 1

Ans 1 %
X1 ?E minutes

X 3 3§ minutes

x4 5§ minutes

o 2 f-% minutes

Q.14 How many minutes will Radha take to cover a distance of 1950 m, if she runs at a speed of 26 kim/h?

Question ID : 65497831196
Status : Answered
Chosen Option : 2

Ans 1. Af
X2 146
X3 506
X 4. 253

Q.15 Two numbers are in the ratio 9 : 11. If their HCF is 23, then the difference of the two numbers is:

Question ID : 65497831188
Status : Answered
Chosen Option : 1

the same rate?

Ans X 1. 30
2 24
<3 35
X4 28

Q.16 A certain sum of money doubles itself in 6 years. How much time (in years) will it take to become five times of itself at

Question ID : 65497831191
Status : Answered
Chosen Option : 1




Q.17 Atrain can cross a tunnel of length 600 m in 54 seconds. and it can cross a 350 m long bridge in 36 seconds. Which of
the following statements is/are correct?
(i) The speed of the train is 60 km/h.
(ii)  The length of the train is 150 m.

Ans 1. Only statement (ii)
X 2. Only statement (i)
& 3. Neither statement (i) nor (ii)

X 4. Both statements (i) and (ii)

Question ID : 65497831207
Status : Not Answered
Chosen Option : --

Q.18 A man bought two mobiles phones for 50,000. He sold one of them at a profit of 15% and the other at a loss of 20%. If
the selling price of each mobile is the same, what is the approximate cost price (to the nearest rupee) of the mobile that
was sold at a loss?

Ans X1 27,368
X 2. 25,465
« 3. 20487
X 4. 20,513

Question ID : 65497831186
Status : Not Answered
Chosen Option : --

Q.19 A man lent out T14,000 at 5% and 19,000 at 6% simple interest per annum. His total income (in T) from the interest in

S
Ans X1, 3,420
X2 2,100
X 3. 5445
¥4 5,520

Question ID : 65497831187
Status : Answered
Chosen Option : 4

Q20 1fX is 12.25% more than Y, then Y is approximately  less than X.
Ans X1 304

« 2. 10.9%

X3 12%

X4 15.6%

Question ID : 65497831198
Status : Not Answered
Chosen Option : ==




he sell for 260, so as to make a profit of 20%?
Ans 3T 1. 2()
X2 30
X3 24
4 25

Q.21 Raghu bought some pens at the rate of 12 for 100 and an equal number of pens at 15 for T135. How many pens should

Question ID : 65497831202
Status : Not Answered
Chosen Option : --

land is ¥2,880 at the rate of T15/m, then what is the length of the land?
Ans 1. 56m
<2 40m
X3 60m
K4 84m

Q.22 A person bought a rectangular piece of land whose length and breadth are in the ratio 7 : 5. If the cost of fencing the

Question ID : 65497831185
Status : Not Answered
Chosen Option : --

of P and Q, respectively, are:

Ans 1. 15 and 21 years
X 2. 20 and 28 years
X 3. 21 and 15 years
X 4. 12 and 13 years

Q.23 The ages of two persons P and Q are in the ratio 5 : 7. Eight vears ago, the ratio of P and Q was 7 : 13. The present ages

Question ID : 65497831199
Status : Answered
Chosen Option : 1

T1350. The cost price (in T) of the article is:

Ans X' 1. 1200
« 2. 1125
X 3. 1250
X4 1175

Q.24 By selling an article for T1800, triple the profit is obtained than the profit that would have been obtained by selling it for

Question ID : 65497831193
Status : Answered
Chosen Option : 1




Q.25 The marked price of an article is T550. It is sold for T317.90, after giving three successive discounts of 15%, x % and

20% on its marked price. If it is sold by giving a single discount of 2 x %, then its selling price (in ) will be:
Ans X 1. 440
+ 2. 385
X< 3. 495
X4 484

Question ID : 65497831204
Status : Not Answered
Chosen Option : --

Section : Part D English

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The report said that / people who are eat meat / are at a higher risk / of fractures.
Ans X 1. are at a higher risk

" 2. people who are eat meat
& 3. of fractures
< 4. The report said that

Question ID : 65497831214
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate synonym of the given word.
Imperial
Ans X 1. Paternal
" 2. Sovereign
X 3. God-fearing
5 4. Ancestral

Question ID : 65497831223
Status : Answered
Chosen Option : 4

Q.3 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

| am sure that Vasu is not going to returned the money that he owes you.
Ans o 1.returned
& 2. 1am sure
25 3. he owes you
< 4. not going to

Question ID : 65497831222
Status : Answered
Chosen Option : 1




Q.4 Select the correctly spelt word.
Ans X 1. Continuosly

25 2. Contenuously
+#" 3. Continuously

X 4. Contenewosly

Question ID : 65497831211
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.

From these findings, we can that the rate of crime is increasing in the city.

Ans X 1. presuppose
& 2. infer

X 3. summarise

& 4. presume

Question ID : 65497831225
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate meaning of the given idiom.

Down in the dumps
Ans X 1.In a high spirit

" 2. In a depressed state of mind
25 3.In a state of fury

& 4. In a very happy mood

Question ID : 65497831221
Status : Answered
Chosen Option : 2

Q.7 Select the most appropriate synonym of the given word.

Monotonous
Ans X 1. Modified

& 2. Varied

4" 3. Boring
X 4. Fluctuated

Question ID : 65497831216
Status : Answered
Chosen Option : 3




Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Angad says that / he follows / his exercise regimen strictly / and that helping to him
stay fit.
Ans X 1. his exercise regimen strictly

#5 2. Angad says that
X 3. he follows
" 4. and that helping to him stay fit

Question ID : 65497831215
Status : Answered
Chosen Option : 4

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.

Delay an event to a later date or time
Ans 4 1. Postpone

X 2. Prepone

X 3. Preserve

X 4. Persevere

Question ID : 65497831220
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate option to fill in the blank.
The shops at the Indian airports haveto __ prices in Indian rupees.
Ans 1. display
& 2. convert
5 3. trace

X 4. tag

Question ID : 65497831208
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

If she likes the scenery, she will paint it.
Ans o 1. No substitution required
X 2. If she like
25 3. If she had | ked
& 4. If she is liking

Question ID : 65497831209
Status : Answered
Chosen Option : 1




Q.12 Select the most appropriate option to fill in the blank.

Besides having a good academic record, it is important that you learn how to face an
interview with and self-confidence.

Ans X 1.counsel
o 2. ease

5 3. experience

X 4. adaptation

Question ID : 65497831212
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option that can substitute the underlined word in the
given sentence.

He became the first Indian to be invited to perform at the advantageous Maple Theatre
in Canada.

Ans  # 1. prestigious
X 2. inauspicious
25 3. heterogeneous

25 4. multifarious

Question ID : 65497831213
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate ANTONYM of the given word.

Enthusiasm
Ans X 1. Excitement

& 2. Lethargy
/5 3. Passion
#5 4. Devotion

Question ID : 65497831226
Status : Answered
Chosen Option : 2

Q.15 Select the most appropriate meaning of the given idiom.
To get out of hand
Ans X 1.To lose courage
/< 2. To act irrespons bly
«" 3. To become uncontrollable

X 4. To be indecisive

Question ID : 65497831210
Status : Answered
Chosen Option : 3




Q.16 Select the option that will improve the underlined part of the given sentence.

no improvement is needed, select 'No improvement required'.
| have never see anything like this before.
Ans X 1.never saw anything
¥ 2. never seen anything
2% 3. never saw something

25X 4. No improvement required

In case

Question ID : 65497831227
Status : Answered
Chosen Option : 2

Q.17 Select the INCORRECTLY spelt word.
Ans X 1.Sensible

¥ 2. Campatable
& 3. Accessible
X 4. Feasible

Question ID : 65497831219
Status : Answered
Chosen Option : 2

Q.18 Select the option that can be used as a one-word substitute for the given group of

words.

An outgoing, socially confident person
Ans o 1. Extrovert

X 2. Introvert
25 3. Brooder
X 4. Solitary

Question ID : 65497831224
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate ANTONYM of the given word.
Deny
Ans X 1.Block
2. Prevent
" 3. Accept
X 4. Check

Question ID : 65497831217
Status : Answered
Chosen Option : 3




Q.20 Select the option that can be used as a one-word substitute for the given group of
words.

A study of the human body
Ans X 1. Philanthropy

X 2. Pathology
«” 3. Physiology
25 4. Philology

Question ID : 65497831218
Status : Answered
Chosen Option : 3

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.s0

5 2. because
& 3.or
o 4. but

Question ID : 65497831229
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.

Ans X 1.by
X 2. with
& 3. 0of
o 4. from

Question ID : 65497831230
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)
for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.strong

< 2. powerful
¥ 3. daring
5 4. thoughtful

Question ID : 65497831231
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)
for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans o 1. tried

5 2. trying
&3 try
< 4. had tried

Question ID : 65497831232
Status : Answered
Chosen Option : 4

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Few people lived near the North Pole. A small Inuit community had settled the closest, (1)

for the most part the region remained isolated (2) the rest of the world for
centuries. A few (3) explorers | ke Henry Hudson and James Cook (4) to
navigate the region in search of a sea (5) to connect the Atlantic and Pacific Oceans
in the waters above North America.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.track

" 2. route

< 3. path
< 4. road

Question ID : 65497831233
Status : Answered
Chosen Option : 2

Section : Part D Hindi




Q.1 frafafed ¥ ¥ olx ad+it a1d 21eg ®1 ugET-
Ans X 1. cRBY

o 2. SRIYR

X 3. I

X 4. Afad

Question ID : 65497831238
Status : Not Answered
Chosen Option : --

Q.2 St alkumH 37 arar I F 1T Suged Wes gl
Ans X 1. g@ar!

o 2. Boer

X 3. g

X 4. ®dAm

Question ID : 65497831253
Status : Not Answered
Chosen Option : --

Q.3 fyad M Ft gfd & e 9ad Suged g &1 999 1
A FAAPIUGAT qoE__ |
Ans g 1 3T
X 2.9ar
X 3.4
X 4.3a1

Question ID : 65497831247
Status : Not Answered
Chosen Option : --

Q4 il W dledr 39 geTak $1 3a ordf 5w fawey # 32
Ans X 1. SIUT GBI

o 2. S BT

X 3. 38T UaT AT

X 4. 9Fc § g

Question ID : 65497831235
Status : Not Answered
Chosen Option : --

Q.5 fyaa R $1 gid F 1T vedt Sugad g &1 99 B
W_ WWRATH R
Ans X' 1.9 6
o 2. A S
7 3. TMa @I
X 4. maH

Question ID : 65497831246
Status : Not Answered
Chosen Option : --




Q.6 I9 Reer o1 9a7 S ot 1 R 1 geray o1 orf oraa svar -
ST F ST
Ans X 1. SIS
X 2. 9gd TR H S
o 3. BT H 3T
X 4 BEHAE

Question ID : 65497831244
Status : Not Answered
Chosen Option : —

Q.7 fou T v F faeim v &1 9= +¥)
ST
Ans X 1 gdd
X 2. faRad
X 3 fawga

4. 3G

Question ID : 65497831241
Status : Not Answered
Chosen Option : —

Q.8 Ry g A YEiiea @e & ufawuifia #37 & g 9e9 Suged fawer o1 9= H¥)
u&s‘étﬂmﬁaﬂ%ﬁmﬁiﬁﬁm%@hmﬁﬁmﬂa%
BT I DY

Sl & 3ET Y et T
Ans X 1. H UM
X 2. fodfl SeaE @t saaddl Tl 6|
& 3. oA H
X 4.5 H|®

Question ID : 65497831234
Status : Not Answered
Chosen Option : —

Q9 mgagragmmﬁmﬁﬁaﬁ%mﬁﬁﬁaﬁaﬁﬁﬂﬂ%

e = 3 omE 1 g1
Ans 5 1. 791
X 2 PRI TR
3. SABA DI
X 4 Regw A

Question ID : 65497831240
Status : Not Answered
Chosen Option : —




Q.10 P g9 3 § - I/ & foe ve weg forf@u)
Ans X 1.3

X 2. DdR
o 3. T
X 4. fd feqdx

Question ID : 65497831242
Status : Not Answered
Chosen Option : —

Q.11 g T T & g te = ifA-
fo I F I B aTen
Ans 1 ddHTD
X 2. 3@
X 3. YaHfagH
X 4. 3G

Question ID : 65497831245
Status : Not Answered
Chosen Option : —

Q.12 FrafifEd # § g a8 9 v ) veaIfe-
Ans X 1 fa@Rl

< 2. 3itweft
X 3.9d
4. BRIR

Question ID
Status

Chosen Option :

1 65497831239
- Not Answered

Q.13 3T 1Y wreg F FAFTS &1 797 B

EauGH

Ans X 1 IRF
o 2. q9dgd
X 3.4
X 4.3

Question ID : 65497831237
Status : Not Answered
Chosen Option : —

Q.14 AT arew F g wm A e @2

Torarsht Y damee & |gy T 8¢l
Ans 1 Wy
X 2. qliamha ¥
X 3.igul
X 4 fuarst R

Question ID : 65497831250
Status : Not Answered
Chosen Option : —




Q.15 33 T a1 # TErfed o &) ufawiiia s & e 9ed Iuged fiwen a1 sga 31
HHARY 3T I T W umn
Ans X 1 UM
X 2. W um
X 3. P UMEIl
4. A UM

Question ID : 65497831252
Status : Not Answered
Chosen Option : —

Q.16 ﬁqmmﬂmﬁﬁrmaﬁuﬁwﬁaaﬂ%%ﬁqmmﬁmmmﬁl
s‘étgwmwaﬁmqa% A faeq et agama o smaxaear T &
PTG DY

F T 31 TIRG W BT E
Ans X 1 GHUU HR @I §
X 2. AEH IR B g
X 3. ot agama @t sfaxaddl Tel 7
o 4. T IRIW@W§

Question ID : 65497831249
Status : Not Answered
Chosen Option : —

Q.17 Raa wiF 31 gfd & fore aes Suged e &1 997 33
afm@tgE__ @
Ans 1 TUS
x 2.9
X3 9
X 4.7R

Question ID : 65497831248
Status : Not Answered
Chosen Option : —

Q18 E;_I’T‘Fga;;:rag YT g H¥ P o g 1 oy P IR @ R, A e R Td ¥

TGl g fagr wfee ¢4
Ans 1 U fagH
X 2.t
X 3oL TEeE
X 4. Hfger ot

Question ID : 65497831236
Status : Not Answered
Chosen Option : —




Q.19 1T 7Y 2eg F faeim wreg &1 997 -

qeurg

Ans 1 R
X 2.3y
X 3. Sfaw
X 4.3

Question ID : 65497831243
Status : Not Answered
Chosen Option : —

Q.20 = fraeT vataart 22
Ans X 1.9d

& 2. 5ad
X 3.
X 4. @usl

Question ID : 65497831251
Status : Not Answered
Chosen Option : -

Comprehension:

i T ¢ TN 7 A $© Ve el QY ML &1 Hafd vl # Uds w8 & oY Yl Iugad

fameu o1 9gT B
(1) P ged 1 & fou g8 Fafia (2) B AfgUl YR (3) P fau e

W, e, IeHT, Bl 3R (4) 91feu| 3rqud gH Wi 3t faeerat # giHard (5)
T YPT o ARt

SubQuestion No : 21
Q.21 e & R i (1) ¥ forg waifie Iuge e grm-
Ans X 1. ®MH
2. R
X 3.URAR

X4l

Question ID : 65497831255
Status : Not Answered
Chosen Option : —

Comprehension:

i U 71T T # U 9 Wek gl QU U § 1 alid Ul # UdD G & Y Hel Jugad
fadea @1 T BRI

(1)__ DygdEH G ougHFafde)  sidlugeR(3) & faugH
eI, asmﬁ_ ,ag%%mam@) TR 3idud gH it &I fFereral # gHar (5)
AT I

SubQuestion No : 22
Q.22 e & Y R (2) % fore waifue Suge o= gm-
Ans X 1. HINU] HAT

X 2.2
X 3. M
& 4. A

Question ID : 65497831256
Status : Not Answered
Chosen Option : —



Comprehension:

i U 71T T # U 9 Wk gl QU Y § 1 Held vl H UdS §8 & Y Hel Sugad
faweg o1 g B

1) oiygdsTH & fougd Fafd () dArdaifeul gar (3) & fougd
Qe ale- a§,=n aglmma%qmsmm) _ 1igu) 3fquq gH 9 &) faererat # giRard (5)
AT I

SubQuestion No : 23
Q.23 TR & e wIF (3) ¥ fore walfte Iugea W 8-
Ans X 1 &
X 2. dER
¢ 3. @
X 4. 99w

—~

Question ID : 65497831257
Status : Not Answered
Chosen Option : —

Comprehension:

i T Y T 7 A $© Ve el QT ML B 1 Wafd vl H uds W & oy el Iugad

fadeu o1 IgT B
(1)__ _ DiggdeH & ugh a2 swalRugR ) sfaued
W, eI, 9o, PeT iR (4)_ @IieU| 3idud gH @ ol el A giard (5)

F R o AR

SubQuestion No : 24
Q.24 e & Raa I (4) F g waifie Suge weg g
Ans X 1 Ugdr
o 2.5
P SERICRICH
X 4.3

Question ID : 65497831258
Status : Not Answered
Chosen Option : —

Comprehension:

i o 1T e 7 U 9 Weg gl QU T § 1 aldid vl 7 UdS G & Y Hed Sugad

famea o1 IgT B
(1)__ DygdEH G oughFafde) sialRu g (3) & faugH
QoM. ale- a§=n atﬂra%qmsmm _ =ifeul 3fquq g9 it @ fqereral # giHard (5)

HRT AT I

SubQuestion No : 25
Q.25 ey & fyaa ®I (5) ¥ forg waifue Suge =g Em-
Ans X 1 SddH

X 2. dWd
3. 9al
X 4. 7B

Question ID : 65497831259
Status : Not Answered
Chosen Option : —
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Section : Part A General Intelligence and Reasoning

Q.1 Which two signs need to be interchanged to make the following equation correct?

16+32%x128+9-17=-4
Ans X 1.xand-

X 2.+and +
o 3.xand +
& 4. +and -

Question ID : 65497830258
Status : Answered
Chosen Option : 3

Q.2 Three different positions of the same dice are shown. Select the number that will be on the face opposite to the one
having ‘4°.

999

&2 2
X3 1
X4 3

Question ID : 65497830259
Status : Answered
Chosen Option : 2




Q.3 select the Venn diagram that best represents the relationship between the following classes.

Mammals, Zebra, Animals

Ans

o 1.

Question ID : 65497830264

Status : Answered

Chosen Option : 1

Q.4 In a certain code language, ‘SINGER’ is written as ‘TKROUX’. How will ‘ROOKIE’ be
written in that language?

Ans X 1.SQSRYK
< 2. SQRSYK
75 3. SQRRYK
o 4. SQSSYK

Question ID : 65497830249

Status : Answered

Chosen Option : 4




Q.5 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

i |
RIESIER
st (B o

Ans & 0o o
s D P9 a9
X1 e om o

O Q9 Aa

G oo &

- ¢ gle O
X2 S ale o
o @l @

1% Ui O

s Oy QI 2
X3 S fe o
D QO 9

2 ole <

¢ 0o 9

4, o S 5
Y4 e oE o
Ob 20 Aa

Question ID : 65497830255
Status : Answered
Chosen Option : 4

Q.6 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

81 33 56
364

54117
Ans X 1.9
o 2.28
X 3.27
X 4.14

Question ID : 65497830253
Status : Answered
Chosen Option : 2

Q.7 C is the brother of B and D is the grandfather of E. B is the daughter-in-law of D and A
is the father of E. How is C related to E?

Ans X 1.Paternal Aunt
& 2. Maternal aunt
4" 3. Maternal uncle
/< 4. Paternal Uncle

Question ID : 65497830250
Status : Answered
Chosen Option : 3




Q8 Which figure will replace the question mark (?) in the following figure series?

%0 oo. * _ o . _°
© 0 o 00 o ©0 0 o0 000 s
o
S 040 0,0 e ©
Ans

* 5 @
X1 |lo e o0

e © @

[ ] o L
W2 |lo oo

s 9 e

L ] L ]

oo
X3lo oo

o .0

e ° o

[ ] o L]
X4lo o o

o
e Y o

Question ID : 65497830247
Status : Answered
Chosen Option : 2

Q.9 Select the option that is related to the third number in the same way as the second
number is related to the first number.

77:11::259: 7
Ans X 1.31

X 2.43

< 3.29

o 4.37

Question ID : 65497830257
Status : Answered
Chosen Option : 4

Q.10 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

BKR, DNV, FQZ, ?, JWH
Ans X 1.HSC
X 2. THE
% 3.HUD
& 4. HTD

Question ID : 65497830261
Status : Answered
Chosen Option : 4




Q.11 A number is subtracted from 4 times of it and then, the number obtained is added to
its (the resultant’s) next number. If this gives the answer as 91, what was the original
number?

Ans X 1.17
% 2.13
X 3.14
o 4.15

Question ID : 65497830254
Status : Answered
Chosen Option : 4

Q.12 Select the number from among the given options that can replace the question mark
(?) in the following series.

15, 45, 75, 105, ?
Ans X 1.120
o 2.135
25 3.125

% 4.130

Question ID : 65497830246
Status : Answered
Chosen Option : 2

Q.13 In a certain code language, ‘DESK’ is coded as ‘@#+%’ and ‘RAIN’ is coded as ‘$-x*".
How will ‘RISK’ be coded in that language?

Ans o 1.5x+%
K 2. +2%
X 3. #+%@
X 4. SH%x

Question ID : 65497830251
Status : Answered
Chosen Option : 1

Q.14 Twelve friends are sitting in two parallel lines. There are 6 people sitting in each row
and facing a person of the other row. In row 1, A, B, C, D, E and F are seated and all of
them are facing north. Inrow 2, O, P, Q, R, S and T are seated and all of them are facing
south but not necessarily in the same order. C, is third to the right of B. C is not an
immediate neighbour to either E or A. P is third to the left of S. Neither P nor S are
sitting at the extreme ends of any row. F, faces O, who is second to the right of T, and T
is not an immediate neighbour to S. Only two people are sitting between Qand T. A, is
not facing R. Which of the following pairs are sitting at the extreme ends?

Ans X 1.SB,PC
X 2.RB, TC
& 3.RE, TC
X 4.SA, PD

Question ID : 65497830256
Status : Answered
Chosen Option : 3




Q.15 select the option in which the given figure is embedded (rotation is NOT allowed).

<Y

&

x| €&

V-

1T

Ans

Question ID : 65497830260

Status : Answered

Chosen Option : 2

Q.16 In a certain code language, COACH is coded as 90, and POST is coded as 210. How
will NOISE be coded in that language?

Ans X 1.158
X 2.124
X 3.168
o 4.186

Question ID : 65497830266

Status : Answered

Chosen Option : 4




Q.17 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All M. Tech students are engineers.
All LLM students are lawyers.

Conclusions:
I. All lawyers are LLM students.
Il. All engineers are M. Tech students.

Ans X 1.Both conclusions | and Il follow.
5 2. Only conclusion Il follows.
25 3. Only conclusion | follows.

" 4. Neither conclusion | nor Il follows.

Question ID : 65497830252
Status : Answered
Chosen Option : 4

Q.18 ‘Nephrologist’ is related to ‘Kidney’ in the same way as ‘Cardiologist’ is related to

Ans X 1. Pancreas
< 2.Lungs
o 3. Heart
< 4. Gall bladder

Question ID : 65497830262
Status : Answered
Chosen Option : 3

Q.19 Select the number from among the given options that can replace the question mark
(?) in the following series.

14, 33, 71, 147, 299, ?
Ans X 1.612
X 2.493
% 3.593
o 4.603

Question ID : 65497830267
Status : Answered
Chosen Option : 4

Q.20 Neeta, Vinita, Satya, Kamini, Divya and Alpa are sitting around a circular table facing
the centre of the table. Alpa is to the immediate right of Vinita. Kamini is between
Neeta and Satya. Divya is between Neeta and Vinita. Who is sitting third to the left of
Satya?

Ans 1. Divya
75 2. Neeta
X 3. Vinita

X 4. Alpa

Question ID : 65497830263
Status : Answered
Chosen Option : 1




Q.21 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.DGJMP
X 2. TWZCF
< 3.PSVYB
o 4. NQTWA

Question ID : 65497830265
Status : Answered
Chosen Option : 4

Q.22 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

RKM : VFS :: PSQ: ?
Ans X 1.SNW
X 2. TMW
& 3. TNW
X 4.SNX

Question ID : 65497830248
Status : Answered
Chosen Option : 3

Q.23 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

G__PK_DF_KGD__K
Ans X 1.DFGDFP
X 2. DPDFKF
«" 3. DFGPFP
< 4. DFGDFK

Question ID : 65497830245
Status : Answered
Chosen Option : 3

Q.24 Select the correct mirror image of the given combination when the mirror is placed to its right side.

FR4PWS5

“ . 3aW9hAaT
S AVCEEE
~3aMabs
< GWahrYT

Question ID : 65497830268
Status : Answered
Chosen Option : 1




Q.25 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Uneventful

2. Uneconomical
3. Unexplained

4. Unexpected

5. Unemployment

Ans X 1.2,5,3,4,1
X 225134
& 3.2,51,4,3
X 4.3,51,4,2

Question ID : 65497830244
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness

Q.1 Politician-writer M Veerappa Moily was awarded the Sahitya Akademi Award 2020 for
his poetry titled ‘Sri Bahubali Ahimsadigvijayam’ in

Ans X 1. Tamil
X 2. Telugu
¥ 3. Kannada
25 4. Malayalam

Question ID : 65497830289
Status : Not Answered
Chosen Option : --

Q.2 Which of the following diseases is caused by the deficiency of haemoglobin?
Ans X 1. Malaria

" 2. Anemia
X 3. Rabies
& 4. Cholera

Question ID : 65497830270
Status : Answered
Chosen Option : 2

Q.3 Which of the following taxes was introduced in India to achieve the goal of 'One
Nation, One Tax, One Market'?

Ans o 1. Goods and Services Tax
< 2. Union Excise Duty
25 3. Custom Duty
X 4. Security Transaction Tax

Question ID : 65497830293
Status : Answered
Chosen Option : 1




Q.4 Which of the following awards did Virat Kohli win in December 20207?
Ans X 1.ICC Men’s Test Cricketer of the Decade

25 2.1CC Men’s T20 Cricketer of the Decade
4 3. I1CC Men’s ODI Cricketer of the Decade
X 4. 1CC Spirit of Cricket Award of the Decade

Question ID : 65497830292
Status : Answered
Chosen Option : 3

Q.5 When did the Hindu Succession Act abandon the rule of primogeniture in India?
Ans o 1.1956

X 2.1950
< 3.1946
X 4.1960

Question ID : 65497830280
Status : Answered
Chosen Option : 1

Q.6 Which of the following statements is INCORRECT?
Ans X 1. Food from the stomach passes into the small intestine.

& 2. Complete digestion of carbohydrates, proteins and fats takes place in the small
intestine.

¥ 3. Saliva contains an enzyme called salivary lipase that breaks down starch into simple
sugar.

5 4. Food enters the stomach through the oesophagus (esophagus).

Question ID : 65497830282
Status : Answered
Chosen Option : 1

Q.7 Which of the following parts of the human body contains gustatory receptors?
Ans X 1.Eyes

25 2. Nose
" 3. Tongue
< 4. Skin

Question ID : 65497830283
Status : Answered
Chosen Option : 2

Q.8 Farmers in some parts of India celebrate the Pola festival by worshiping their
Ans X 1.farm tools

25 2. ancestors
X 3. farms
" 4. bullocks

Question ID : 65497830281
Status : Not Answered
Chosen Option : --




Q.9 Who among the following laid the foundation of independent Awadh dynasty?
Ans X 1. Chin Qilich Khan

25 2. Marthanda Varma
+ 3. Saadat Khan
X 4. Haider Al

Question ID : 65497830276
Status : Answered
Chosen Option : 4

Q.10 Which among the following is the longest river in the Thar Desert?
Ans X 1.Jhelum

& 2. Chambal
2 3.Son
& 4. Luni
Question ID : 65497830288
Status : Answered
Chosen Option : 4
Q.11 The' ' is an initiative of the National Bamboo Mission and the Government e-

Marketplace (GeM) to showcase bamboo products.
Ans X 1. Indian Gold Collection

25 2. Indian Bamboo Collection
& 3. Green Wood Collection
" 4. Green Gold Collection

Question ID : 65497830291
Status : Not Answered
Chosen Option : --

Q.12 The fifth storey of Qutub Minar was built during the reign of:
Ans X 1. lltutmish

25 2. Mohammad-bin-Tughlaq
¥ 3. Firoz Shah Tughlaq
& 4. Razia Sultana

Question ID : 65497830275
Status : Answered
Chosen Option : 1

Q.13 In which year was the Indian Industrial and Commercial Congress formed by Indian
merchants and industrialists to organise their business interests?

Ans X 1.1934
X 2.1909
" 3. 1920
75 4.1945

Question ID : 65497830272
Status : Not Answered
Chosen Option : --




Q.14 Which of the following words in the Preamble to the Constitution describes India as a
country having complete political freedom and being the supreme authority?

Ans 4 1. Sovereign
5 2. Democratic
& 3. Socialist
X 4. Secular

Question ID : 65497830285
Status : Answered
Chosen Option : 1

Q.15 Which of the following persons was NOT amongst the female judges sworn in as
judges of the Supreme Court of India on 31st August 2021?

Ans  # 1. Justice Indira Banerjee
< 2. Justice BV Nagarathna
25 3. Justice Bela M Trivedi
& 4. Justice Hima Kohli

Question ID : 65497830286
Status : Answered
Chosen Option : 1

Q.16 Vikramshila Gangetic Dolphin Wildlife Sanctuary is located in which of the following
states?

Ans X 1. Chhattisgarh
" 2. Bihar

X 3. Uttar Pradesh
X 4. Goa

Question ID : 65497830271
Status : Answered
Chosen Option : 2

Q.17 is a risk management strategy employed to offset losses in investments by
taking an opposite position in a related asset.

Ans X 1. Scalability
¥ 2. Hedging
< 3. Amortization
X 4. Collateral

Question ID : 65497830279
Status : Answered
Chosen Option : 2

Q.18 In which state was the Indo-Dutch centre of excellence (CoE) for vegetables and
flowers opened in November 2020?

Ans 1. Kerala
X 2. Punjab
X 3. Telangana
& 4. Gujarat

Question ID : 65497830278
Status : Not Answered
Chosen Option : --




Q.19 The founder of Yes Bank is:
Ans X 1.Rajesh Kapoor

25 2. Rahul Kumar
X 3. Prashant Kumar
¥ 4. Rana Kapoor

Question ID : 65497830274
Status : Answered
Chosen Option : 4

Q.20 Which of the following is a temple in Mangaluru, dedicated to an avatar of Lord Shiva?
Ans X 1. Mukteshvara Temple

& 2. Ananta Vasudeva Temple
4 3. Kadri Manjunatha Temple
/< 4. Gundicha Temple

Question ID : 65497830287
Status : Not Answered
Chosen Option : --

Q.21 ‘The Commonwealth of Cricket: A Lifelong Love Affair with the Most Subtle and
Sophisticated Game Known to Humankind’ is a book written by

Ans X 1.Vinod Rai
#< 2. Vikram Limaye
< 3. Diana Edulji
" 4. Ramachandra Guha

Question ID : 65497830284
Status : Answered
Chosen Option : 4

Q.22 Sutirtha Mukherjee is an Indian
Ans X 1. golfer

4" 2. table tennis player
25 3. badminton player

& 4. swimmer

Question ID : 65497830290
Status : Not Answered
Chosen Option : --

Q.23 The inaugural Olympic Congress was organised in the year 1894 in:
Ans X 1. Stockholm

X 2. Oslo
" 3. Paris
X 4. London

Question ID : 65497830269
Status : Not Answered
Chosen Option : --




Q.24 Who among the following was elected as the speaker of the Bihar Assembly in
November 20207

Ans X 1. Prem Kumar
& 2. Vjay Kumar Sinha
2 3. Awadh Bihari Choudhary
#5 4. Jitan Ram Manjhi

Question ID : 65497830273
Status : Not Answered
Chosen Option : --

Q.25 Article 76 of the Constitution of India is associated with:
Ans X 1. Election Commission

25 2. Supreme Court
¥ 3. Attorney General of India
X 4. Administrative Tribunals

Question ID : 65497830277
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics

Q.1 The difference between the compound interest and the simple interest on a certain sum at 8% per annum for 2 years is

T144. What is the amount (in ¥)?
Ans %' 1. 20,500

X 2. 24,500

X 3. 40,000

« 4. 22,500

Question ID : 65497830295
Status : Answered
Chosen Option : 4

The value of 75 + 30 4af ?.14) (33 13) is:

Ans 1. 0
X210
X3 1
X435

Question ID : 65497830298
Status : Answered
Chosen Option : 1




Q.3  After applying successive discounts of 10% and 5% on the marked price of an article, it was sold for ¥3,420. Find the
marked price of the article.

Ans X 1. 5,000
X 2. ¥4.400
X 3. T6,000
« 4 34,000

Question ID : 65497830301
Status : Answered
Chosen Option : 4

Q.4 12 spherical balls of radius 10 cm are dropped in a bucket which is full of water up to the brim. The water flowed out is

collected in a cylindrical jar of radius 20 cm. What is the height (in cm) of the water in the jar? (Take m = ? )
Ans X 1. 45
X2 32
+ 3. 40
X4 18

Question ID : 65497830297
Status : Answered
Chosen Option : 3

Q.5 Raghu and Raman start together to walk a certain equal distance at a speed of 10 kivh and 8 kmv/h, respectively. Raghu
arrives 30 minutes before Raman arrives. Find the distance between the start and the end point.

Ans X' 1. 25 km

X2 28 km
X3 24 km
4 20 km

Question ID : 65497830299
Status : Answered
Chosen Option : 4

Q.6 The sum of two numbers m and 1 is 84 (m > n) and their difference is 6. What is the ratio of the two numbers?
Ans X1 4:3

X2 17:15

X39:8

4 15:13

Question ID : 65497830316
Status : Answered
Chosen Option : 4




Q.7 Soniand Gita together can complete a job in 8 h and Arti alone can complete the job in 12 h. In how many hours can
Gita alone complete the job?

Ans X 1. 48
X212
3 24
x4 14

Question ID : 65497830302
Status : Marked For Review
Chosen Option : 3

Q.8 The speed of a train is 110 knvh. It is increased by 20% and then runs at uniform speed. The train driver sees the 'Slow
Down' sign, so he reduces the speed of the train by 40% of the speed at that moment. What is the final speed (in kmh,

correct to one decimal place) of the train?

Ans  X1. 69.2
X2 755
X 3. 66.5
4 792

Question ID : 65497830312
Status : Answered
Chosen Option : 4

Q.9 The average weight of 24 persons in a group is 72 kg. If 3 persons with average weight 78 kg leave the group and 4
persons of average weight 75 kg join the group, then what will be the average weight (in kg) of the persons in the group

now?

Ans X 1. 66.5
« 2. 71.76
X3 67.74
X4 67.8

Question ID : 65497830306
Status : Answered
Chosen Option : 2

Q.10 Letx beanumber between 1420 and 1780 such that when x is divided by 10, 15, 24 and 32, the remainder in each

case is 7. The sum of the digits of x is:
Ans x4 22

X2 13

+ 3 16

X419

Question ID : 65497830305
Status : Answered
Chosen Option : 3




Q.11 The least number of square tiles required to pave the floor of a room with dimensions 15 metres and 12 metres will be:
Ans 1 20

X216

X3 15

X 4. 60

Question ID : 65497830303
Status : Answered
Chosen Option : 1

Q.12 Acan do a certain piece of work in 20 days. B is 25% more efficient than A, and C is 20% more efficient than B. A and
C work together for 5 days. B alone will complete the remaining work in:

Ans X 1. 9 days
X 2. 8 days
« 3. 6 days
X 4. 5 days

Question ID : 65497830313
Status : Answered
Chosen Option : 3

Q.13 By selling an article for 170, a man loses 15%. What per cent will he gain or lose, if he sells it for ¥206.407
Ans % 1. Loss, 1.6%

X 2. Loss, 3.2%
+ 3. Gain, 3.2%
X 4. Gain, 1.6%

Question ID : 65497830309
Status : Answered
Chosen Option : 3

Q.14 Seema is younger than Reema by 8 vears. If 4 years back, their ages were in the ratio 1 : 2, then the age (in years) of
Seema after 6 years from now will be:

Ans X 1. 24
« 2. |8
<3 20
X4 12

Question ID : 65497830296
Status : Answered
Chosen Option : 2

Q.15 Atrader sells an item for T805 after offering a discount of 12.5% on its marked price. Had he not offered the discount,
he would have earned a profit of 15%. What is the cost price (in T) of the item?

Ans X1, 780
X 2.700
« 3. 800
X 4750

Question ID : 65497830315
Status : Answered




Q.16 The speed of a boat in still water is 10 km/h. The time taken by the boat to go 35 km downstream is 1.25 times the time
taken by it to go 14 km upstream. How much time (in hours) will it take to go 60 km downstream?

Ans 1 3
X2 35
X3 4
4 4.5

Question ID : 65497830314
Status : Answered
Chosen Option : 4

Q.17 The marked price of an article is T450. Tt is sold for ¥267.30, after offering three successive discounts of 10%, x %, and
20%. What is the value of x ?

Ans X1 16.5
2 175
X3 18
X419

Question ID : 65497830311
Status : Answered
Chosen Option : 2

Q.18 Psolda lamp to Q at a profit of 20%. Later, Q sold the same lamp to P at a profit of 30%, thereby making a profit of
T108. How much (in %) did P pay originally for the lamp?

Ans  X'1. 300
2. 330
X3 320
x4 280

Question ID : 65497830294
Status : Answered
Chosen Option : 1

Q.19 A number is decreased by 25% and then increased by 25%. The net percentage increase or decrease is:

Ans X' 1. 2,5% decrease

2 6 i % decrease

. 2 3
X 3 35 %5 increase

X 4. 49 decrease

Question ID : 65497830304
Status : Answered
Chosen Option : 2




Q.20 A certain sum amounts to 8,640 in 2 years at simple interest and to ¥9.720 in 3 years. The sum (in ¥) and the rate of

interest p.a., respectively, are:

Ans X 1. ¥6.450 and 15%

X 2. 76.450 and 16 S %

3. 76,480 and 16 g %

X 4. 36,480 and 15%

Question ID : 65497830308
Status : Answered
Chosen Option : 3

Q.21 The ratio of the incomes of A and B is 4 : 5 and the ratio of their expenditures is 2 : 3. If A and B save ¥7,200 and
36,000, respectively, then the income (in ¥) of A is:

Ans 1. 19,200
X 2. 20,000
X 3. 24,000
X 4. 18,000

Question ID : 65497830307
Status : Answered
Chosen Option : 1

Q.22 The average weight of 56 students in a group is 55 kg. If 12 students of average weight 60 kg leave and 6 students of
average weight 52.5 kg join the group, then the average weight of the remaining students in the group decreases by:

Ans 51 2 kg
x2 1.8kg
3 1.5kg
x4 25kg

Question ID : 65497830310
Status : Answered
Chosen Option : 3

Q2 The value of [6 + 30f 7 — 5] =2 of 11 is:
Ans X122

X211

v3 1

X4 121

Question ID : 65497830300
Status : Answered
Chosen Option : 3




Q.24 Three solid metallic cubes of sides 6 cm, 8 cm and 10 cm, respectively, were melted to form a new solid cube.

Find the side (in cm) of the new solid cube.
Ans X1 Q

2 12

X3 8

X 4125

Question ID : 65497830318
Status : Answered
Chosen Option : 2

Q.25 The difference between the compound interest and the simple interest on a certain sum at 5% per annum for 2 years is

152, What is the amount (in 3)?

Ans X 1. 50,500
X 2. 60,000
« 3 60,800
X 4. 10,500

Question ID : 65497830317
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.

An object through which we cannot see at all
Ans  # 1. Opaque
25 2. Translucent
X 3. Transparent

& 4. Crystal

Question ID : 65497830326
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option to fill in the blank.
The socio-economic policy has beenthe __ of much debate.
Ans o 1.subject
X 2. talk
X 3. object
< 4. concept

Question ID : 65497830335
Status : Answered
Chosen Option : 1




Q.3 Select the option that can be used as a one-word substitute for the given group of
words.

Imitate someone’s action or words in order to entertain or ridicule
Ans X 1. Copy

& 2. Mimic
X 3. Repeat
< 4. Duplicate

Question ID : 65497830332
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate meaning of the given idiom.

To beat around the bush
Ans X 1. To explain something in detail

& 2. To avoid noticing someone
2% 3. To discuss the main topic

4" 4. To avoid the main issue

Question ID : 65497830329
Status : Answered
Chosen Option : 4

Q.5 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

The movie theatre is a excited place where people can relax and enjoy the experience.
Ans X 1. exciting
X 2. the excited
25 3. No improvement required

¥ 4. an exciting

Question ID : 65497830338
Status : Answered
Chosen Option : 4

Q.6 Select the INCORRECTLY spelt word.
Ans X 1. Omission

5 2. Remission
X 3. Recession

" 4. Precission

Question ID : 65497830333
Status : Answered
Chosen Option : 4




Q.7 Select the most appropriate meaning of the given idiom.

Drop names

Ans X 1. Delete someone’s name from a list
25 2. Show disrespect to someone’s name
X 3. Assume a false name

¥ 4. Name famous people to impress others

Question ID : 65497830337
Status : Not Answered
Chosen Option : --

Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Collection

25 2. Complaint
4 3. Coressponding
& 4. Consolidation

Question ID : 65497830324
Status : Answered
Chosen Option : 3

Defy
Ans 4 1. Disobey

/2. Destroy
X 3. Abide
& 4. React

Q.9 Select the most appropriate synonym of the given word.

Question ID : 65497830331
Status : Answered
Chosen Option : 1

Stun
Ans o 1.Shock

& 2. Trick
X 3. Joke
X 4. Jest

Q.10 Select the most appropriate synonym of the given word.

Question ID : 65497830321
Status : Answered
Chosen Option : 1




Q.11 Select the option that can be used as a one-word substitute for the given group of
words.

Release someone from a duty or obligation
Ans X 1.Banish

< 2. Expel
7% 3. Dismiss
«# 4. Exonerate

Question ID : 65497830323
Status : Answered
Chosen Option : 2

Q.12 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select 'No improvement required'.

The decision to become a doctor is completely hers.

Ans  # 1. No improvement required
X 2. are completely her
X 3.is complete her’s
25 4.is completely her

Question ID : 65497830325
Status : Answered
Chosen Option : 1

Q.13 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The president forced / to leave the country / when the people rose up against / the
government.

Ans X 1.when the people rose up against
< 2. the government
< 3. to leave the country
" 4. The president forced

Question ID : 65497830330
Status : Answered
Chosen Option : 4

Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The education of girls / is a primary concern for the country, / so it should be started
early, / isn’t it?

Ans X 1. The education of girls
X 2.s0 it should be started early
< 3.is a primary concern for the country

o 4.isn'tit

Question ID : 65497830319
Status : Answered
Chosen Option : 4




Q.15 Select the most appropriate ANTONYM of the given word.

Alert
Ans X 1. Aware

X 2. Active
X 3. Ready
o 4. Careless

Question ID : 65497830322
Status : Answered
Chosen Option : 4

Q.16 Select the most appropriate option to fill in the blank.

Teams from all over India in the talent show.
Ans . 1. participated

#< 2. proh bited
< 3. produced
< 4. provided

Question ID : 65497830328
Status : Answered
Chosen Option : 1

Q.17 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The lady was furious / to see that no one / were wearing masks / on the road near the
shop.

Ans X 1. The lady was furious
< 2. on the road near the shop
¥ 3. were wearing masks

X 4. to see that no one

Question ID : 65497830320
Status : Answered
Chosen Option : 3

Q.18 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Unless we sat in an incorrect posture, we may strain our back.
Ans X 1. Until we sit

" 2. If we sit
7% 3. Although we are sitting

#< 4. No improvement required

Question ID : 65497830327
Status : Answered
Chosen Option : 2




Ans

Q.19 Select the most appropriate ANTONYM of the given word.

Vulnerable

«" 1. Secure
< 2. Breakable
< 3. Tender
75 4. Sensitive

Question ID : 65497830336
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option to fill in the blank.
For a member to borrow money from the association, three need to be met.
Ans X 1. points
#< 2. accounts
X 3. restrictions
" 4. conditions
Question ID : 65497830334
Status : Answered
Chosen Option : 4
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.
You should elect me as Class President as | think that everyone’s (1) matters. | am a
confident speaker and have won prizes (2) public speaking. | will make sure that the
school council (3) to us. When people come to me with problems, | (4) listen
carefully. | never judge people who come to me for (5) . You can count on me for help.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no.1.
Ans X 1.reaction
75 2. estimate
#< 3. theorem
¥ 4. opinion

Question ID : 65497830340
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You should elect me as Class President as | think that everyone’s (1) matters. | am a
confident speaker and have won prizes (2) public speaking. | will make sure that the
school council (3) to us. When people come to me with problems, | (4) listen
carefully. | never judge people who come to me for (5) . You can count on me for help.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1.on

o 2. for
< 3. by
& 4. 0of

Question ID : 65497830341
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You should elect me as Class President as | think that everyone’s (1) matters. | am a
confident speaker and have won prizes (2) public speaking. | will make sure that the
school council (3) to us. When people come to me with problems, | (4) listen
carefully. | never judge people who come to me for (5) . You can count on me for help.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1.accepts

/< 2. hears
< 3. believes
o 4. listens

Question ID : 65497830342
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You should elect me as Class President as | think that everyone’s (1) matters. | am a
confident speaker and have won prizes (2) public speaking. | will make sure that the
school council (3) to us. When people come to me with problems, | (4) listen
carefully. | never judge people who come to me for (5) . You can count on me for help.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1.barely

o 2. always
< 3. seldom
#5 4. never

Question ID : 65497830343
Status : Answered
Chosen Option : 2




Q.25
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

You should elect me as Class President as | think that everyone’s (1) matters. | am a
confident speaker and have won prizes (2) public speaking. | will make sure that the
school council (3) to us. When people come to me with problems, | (4) listen
carefully. | never judge people who come to me for (5) . You can count on me for help.

SubQuestion No : 25
Select the most appropriate option to fill in blank no.5.
o 1. advice

25 2. news
#< 3. lesson
< 4. caution

Question ID : 65497830344
Status : Answered
Chosen Option : 1

Section : Part D Hindi

QA1

Ans

A M aren F e um A 3 B2
T UY P sfagiRiedr srad afiewy g1
X 1. 3rd
X 2.3y
X 3.9 Bl
o 4 B shEhied

Question ID : 65497830358
Status : Not Answered
Chosen Option : --

Q.2

Ans

Prafif@d & A g ad-it aren T S AT e?
o 1. faHR
X 2. fRwR
X 3. dIRWR
X 4. fR=PR

Question ID : 65497830356
Status : Not Answered
Chosen Option : --

Q.3

Ans

o g are ¥ Rarfed s @1 ufaiid w1 & fore wad Suged fawen &1 aa a3
Tfe 38 UfeRATRId B B axaHdr 181 €, a1 faweq THdt ggama &1 snaxaddar el &
BT I B
TP IR d X SR Z

o 1. IR

X 2. I IR

X3 WMW

X 4. 5 9aama B Savuded T8 B

Question ID : 65497830352
Status : Not Answered
Chosen Option : --




Q4 2 T areamy F forw ve weg dfor
Y A BT W

Ans X 1 UGy

X 2. 3uHE

3. iy

X 4. fauad

Question ID : 65497830354
Status : Not Answered
Chosen Option : —

Q5 3T veg & GHETT g BT TUT Y|
qum

Ans | G0

X 2.Rg

X 3.91

X 4B

Question ID : 65497830346
Status : Not Answered
Chosen Option : —

AT A T B wif e A A Ram
Ans X 1. s fem

X 2.y fear
3. 51 femn
X 4. garfem

Q.6 Y T a1y # YEIfhd o #Y ufarnfid 3 & R wed Suge e o1 =g 31

Question ID : 65497830361
Status : Not Answered
Chosen Option : —

s st g
Tfer = wrem I v
Ans 1 Ty femn
X 2.7
X 3. T feEA
X 4 DR AR

Q7 RE IR FT R AN Ta s PR s IR 2 R e IR T8 e, AR &P

Question ID : 65497830345
Status : Not Answered
Chosen Option : —




Q.8 faa w3 g F forg wast Suga e &1 59T #3
YD A G TG AR Bl I@T Tl
Ans X 1. did
X 2. 9@
¢ 3R
X 439

Question ID : 65497830364
Status : Not Answered
Chosen Option : —

Q.9 fea w3 g F forg wast Iuge Weg &1 99
HHA BTTH gaT g
Ans X 1 ffa
2. DIFd
X 3.faga

X 4. goHa

Question ID : 65497830350
Status : Not Answered
Chosen Option : —

Q10 %qmmmwmmﬁmﬁﬁgﬁ%lﬂﬁﬁzﬁﬂﬁ%ﬁﬁﬁﬁﬁ?
I

AR F (1) TE A (2) TS TR R By PE TR TR (4)
Ans X 12

X 23
X 3.4
W

Question ID : 65497830351
Status : Not Answered
Chosen Option : -

Q.11 e IR fawedr A |, 39 fAwer o1 997 o3 Wi 13y 13 geray &1 orf area svar &-
et ST ST
Ans X 1. 9aiG gl Sl
X 2. pad Il
3. 9gd 9Icg Gd 8l ol
X 4 O S

Question ID : 65497830348
Status : Not Answered
Chosen Option : —




Q.12 ffy o1 afaar 2-
Ans X 1. 3®HIR

X 2.t

3. Udd

X 4.9

Question ID : 65497830359
Status : Not Answered
Chosen Option : —

R U9 dIedaR o 8l
Ans 1 G

< 2. gHTaITC

X 3.gdd
X 4. SR

Q.13 33 T areg ® YEifed o1 B ufawnfia $39 & fore wed Suyad e &1 su= a3

Question ID : 65497830360
Status : Not Answered
Chosen Option : —

Ans | A
X 2. @rft
X 3. 9
X 4. IrTgA

Q.14 5 @ & 3 8 arm & g ue g ghh-

Question ID : 65497830363
Status : Not Answered
Chosen Option : —

Q.15 f3E ¢ wreg 1 fae g1
AP
Ans X 1 faad
X 2. @@
X 3 9w
4T

Question ID : 65497830353
Status : Not Answered
Chosen Option : —

ot & S-S 3= arer
Ans 1SS
X 2. 98R
X 3. 3garuig
o 4. ST

Q.16 f3w T arm & R v v §ifvR-

Question ID : 65497830349
Status : Not Answered
Chosen Option : —




Q.17 Uiq I@SAT Yeray &1 qet o §-
Ans 1. BRER YFT M

X 2. g g

X 3.frRugw

7 4. SATETTHUY HA]

Question ID : 65497830362
Status : Not Answered
Chosen Option : —

Q.18 Frafifad # § g ad o v s A E2
Ans X 1 3wdd

X 2. 3sqd
X 3. 35ad
4. 3%qd

Question ID : 65497830357
Status : Not Answered
Chosen Option : —

Q.19 3T 1Y =g F el 2reg o1 997 HN-
wfea
Ans X1 sfed
X 2 fog@
X 3 3|
 4.Tag

Question ID : 65497830347
Status : Not Answered
Chosen Option : —

Q.20 fyga wir @Y g & g Tes Suged W &1 FaT B
AP e PIBI W ®
Ans p 1 fawEdl
X 2. 9rdlg
< 3. gHIfad
X 4. =Rl

Question ID : 65497830355
Status : Not Answered
Chosen Option : —




Comprehension:

foT T T H Q $9 ek gel fAU U § 1 fadedl ot Ugadl § Ui G & oY ey Sugad
faweg o1 g B

il &1 HFG- (1) 7 Ry R R P HULHY AT I (2) HEINES
RARK o 31T B A S (3) IR AR VeI I R DI (4) &
IRAT P (5) A ATiag @ gl

SubQuestion No : 21

Q.21 e ¥ faa wIF (1) ¥ frg walfue Iugea weg drm-
Ans X 1 AfRTsH

o 2. Slia

X 3.8

X 4. 9UR

Question ID : 65497830366
Status : Not Answered
Chosen Option : —

Comprehension:

R T F A $ sk gel RU T B 1 faded! 3t Werdl ¥ Ud® Te & oy 9ad Sugad
fadbed 1 9g B

Tifid &1 AFa- (1) F v RERI PIHUDNTFNAA(2) 7199,
RAR Tt 3T it A I (3) AT IR RPN gy &,
IRA P (5) A dwiagdiaiel
SubQuestion No : 22
Q.22 TR ¥ R WM (2) ¥ Rre walfte Sugea weg -
Ans 1 3fiduid
X 2. WER

X 3.gdl
X 4.9

Question ID : 65497830367
Status : Not Answered
Chosen Option : —

Comprehension:

U TR # 9§ $@ ek gel fot MU § | fadedl ot werdr ¥ ude T & U 9ed Sugdd
fadey &1 gg B

gifld &1 HFG- (1) 7 Ry ®E R B HULBY AT T (2) HENES
AR @ 3T Brar ¥ IE (3) IAE ARG e Ry Dl (4)_ H,
IRAT & (5) e dwiag @t gl

SubQuestion No : 23
Q.23 e & R ®ir (3)  forg walfie Suge wreg drm-
Ans X' 1. g
X 2. =it
X 3. gafed
o 4. UHIfdd

Question ID : 65497830368
Status : Not Answered
Chosen Option : —




Q.24
Ans

Comprehension:

foT T T H Q $9 ek gel fAU U § 1 fadedl ot Ugadl § Ui G & oY ey Sugad
faweg o1 g B

il &1 HFG- (1) 7 Ry R R P HULHY AT I (2) HEINES
RARK o 31T B A S (3) IR AR VeI I R DI (4) &
IRAT P (5) A ATiag @ gl

SubQuestion No : 24

e F e wI (4) ¥ e walfte Suged we grm-
X 1.ga4ad
X 2.9 c@eud
X 3. ®HRd

4. WO

Question ID : 65497830369
Status : Not Answered
Chosen Option : —

Comprehension:

R T F A $ sk gel RU T B 1 faded! 3t Werdl ¥ Ud® Te & oy 9ad Sugad
fadbed 1 9g B

Fiid &1 AFG- (1) A R ™A R BT DDV TN (2) HEIGE
RAG @R I 1T @ ST (3) AT IR TATd RN R (4) &
IRATF (5) e dwiagidiz

SubQuestion No : 25

Q.25 TR ¥ Raa wiF (5) F Rre walfte Sugea weg -

Ans

X 1.g4gd
X 2.94.3d
3. TATd
X 4 RIR

Question ID : 65497830370
Status : Not Answered
Chosen Option : —
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Section : Part A General Intelligence and Reasoning

Q.1 What is the difference between the compound interest on 40,000 at 20% per annum
compounded half-yearly and compounded quarterly for a period of one year?

Ans X 1.%320.25
X 2.%8,400
< 3.38,620.25
o 4.3220.25

Question ID : 65497832156
Status : Answered
Chosen Option : 1

Q.2 ‘P x Q’ means ‘P is the wife of Q’. ‘P + Q"' means ‘P is the father of Q. ‘P + Q’ means ‘P
is the daughter of Q'. ‘P — Q’ means ‘P is the son of Q’.How is E related to | in the
expression ‘E+F+G—-H+1'?

Ans X 1. Daughter-in-law

& 2. Sister
«” 3. Granddaughter

25 4. Grandson

Question ID : 65497832173
Status : Answered
Chosen Option : 3

Q.3 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Manager
2. Manicure
3. Manner
4. Mammal
5. Mandible

Ans X 1.3,4,2,1,5
24,1523
X 3.1,4,523
X 4.4,1,53,2

Question ID : 65497832149
Status : Answered
Chosen Option : 2




Q.4 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

T_DS_R_STRD_T_DS_R_S
Ans X 1.RTDTRDT
X 2.DTDSSST
& 3. RTDSRTD
X 4DTRSRTD

Question ID : 65497832150
Status : Answered
Chosen Option : 3

Q.5 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

BFI, EIL, HLO, KOR, ?
Ans X 1.HNM
% 2.Qsv
X 3.LPS
o 4.NRU

Question ID : 65497832167
Status : Answered
Chosen Option : 4

Q.6 Six people, F, G, H, I, J and K, are standing opposite to each other in a circle, facing
towards the centre. F and G are adjacent to each other. F and K are opposite to each
other. H is opposite to I. J is opposite to G. K is second to the left of H. Who is
standing between F and 1?

Ans X 1.K
x2.J
X 3.H
& 4.6

Question ID : 65497832169
Status : Answered
Chosen Option : 4

Q.7 Study the given pattern carefully and select the number that can replace the question
mark (?) in it.

1530 33
16 26 19
62122 ?

Ans X 1.124

X 2.128

<317
o 4. 104

Question ID : 65497832155
Status : Answered
Chosen Option : 4




Q.8 In a certain code language, HIDDEN is written as IJECDM. How will FELLOW be written
as in that language?

Ans X 1. EDKKNU
X 2. EDKMPZ
X 3. GFMMPZ
o 4. GFMKNV

Question ID : 65497832153
Status : Answered
Chosen Option : 4

Q.9 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans o 1. YUSR
< 2. GDBA
X 3.IFDC
< 4.ZWUT

Question ID : 65497832163
Status : Answered
Chosen Option : 1

Q.10 Select the number from among the given options that can replace the question mark
(?) in the following series.

128, 109, ?, 77, 64, 53, 44
Ans X 1.88
X 2. 81
o 3.92
% 4.100

Question ID : 65497832151
Status : Answered
Chosen Option : 3

Q.11 In a certain code language, 'TWO' is coded as '3' and 'FIVE' is coded as '4". How will
'EIGHT’ be coded in that language?

Ans X 1.7
X209
3.5
X 48

Question ID : 65497832164
Status : Answered
Chosen Option : 3




Q.12 Eleven people are sitting across a rectangular table. Four persons are sitting on each
longest side of the table. Boss is sitting alone at one side of the table. N and O are
sitting beside each other on one of the shortest side of table. H is sitting opposite to E
and between G and N. A is sitting opposite to C and between M and D. B is opposite to
D and between C and G. F is sitting opposite to G. Who among them is a Boss?

Ans X 1.F
& 2. M
X 3.A
X 4.G

Question ID : 65497832158
Status : Answered
Chosen Option : 2

Q.13 ‘Printer’ is related to ‘Hardware’ in the same way as ‘Web Browser’ is related to

Ans X 1. Google Chrome
" 2. Software
5 3. Windows
25 4. Operating System

Question ID : 65497832168
Status : Answered
Chosen Option : 2

Q14 select the option that is embedded in the given figure (rotation is NOT allowed).

Ans

Question ID : 65497832162
Status : Answered
Chosen Option : 1




Q.15 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
1. All flowers are tulips.
2. No tulips are whites.

Conclusions:
I. All tulips are flowers.
1. Some tulips are whites.

Ans  &# 1. Neither conclusion | nor conclusion Il follows.
75 2. Both the conclusions follow.
25 3. Only conclusion Il follows.

2< 4. Only conclusion | follows.

Question ID : 65497832154
Status : Answered
Chosen Option : 1

Q.16 Select the correct mirror image of the given figure when the mirror is placed at 'AR' as shown.

4

B

Ans

P

(Q)

-é?’

'

o 4.

b

Question ID : 65497832166
Status : Answered
Chosen Option : 4




Q.17 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

N
Y]
M~
]
e e e |

N
el
|
b= =l
el B

w
e
L |
b= sl
=1 P =1 P

x4

R
™~
b L

e ]

Question ID : 65497832157
Status : Answered
Chosen Option : 3

Q.18 Select the number from among the given options that can replace the question mark
(?) in the following series.

37, 41, 50, 66, ?
Ans X 1.101
o 2.91
X 3.85
X 4.97

Question ID : 65497832165
Status : Answered
Chosen Option : 2

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number.

15:231::16: 7
Ans X 1.251
X 2.256
X 3.260
o 4.262

Question ID : 65497832159
Status : Answered
Chosen Option : 4




Q20 gelect the figure that will come next in the following figure series.

B b | . . L) b |
- g - g —— .-
T i 2
hemma . S hrwmd S A 4 T
i

Ans

" .

" .

o -

L
pr———
Xal i *
Question ID : 65497832152
Status : Answered
Chosen Option : 3

Q.21 Select the option that is related to the third letter-cluster in the same way as the

second letter-cluster is related to the first letter-cluster.

FEW: GYH::YOU:?

Ans X 1. QAW

X 2. WQA

« 3. QWA

& 4. AQW

Question ID : 65497832171
Status : Answered
Chosen Option : 3

Q.22 If ‘P’ denotes ‘addition’, ‘D’ denotes ‘subtraction’, ‘S’ denotes ‘multiplication’, and ‘V’

Ans

denotes ‘division’, then what will be the value of the following expression?

158S2P2(11S2)D75V15D 4 (9 S 4)
o 1.-75
X 2.75
< 3.85
X 4.-85

Question ID : 65497832160

Status : Answered

Chosen Option : 1




Q.23 If 'white' is called 'black’, 'black’ is called 'grey’, 'grey’ is called 'red’, 'red, is called
‘green’, 'green’ is called 'blue’ and 'blue’ is called 'yellow', then what will be the colour

of ‘Stop’ signal light?
Ans X 1.Blue
" 2. Green
X 3. Grey
& 4. Yellow

Question ID : 65497832172
Status : Answered
Chosen Option : 2

Q.24 select the Venn diagram that best represents the relationship between the following classes.

Girls, Boys. Students

(G: Girls: B: Boys; S: Students)

Ans 1 I
v1.|C|s|=B
B
~ 2 F S
X 3. !G S
x4 E B

Question ID : 65497832170
Status : Answered
Chosen Option : 1




Q.25 A dice is thrown three times. Its different positions are as shown. Select its next possible position from the given

options.
Cc B E
A B A E A F
Ans D
1.
x . |E
F
2.
4 F |-
E
3.
x P -
C
x4 i e

Question ID : 65497832161
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Q.1 Which of the following states is associated with the dance drama folk theatre form
‘Yakshagana’?
Ans o 1. Karnataka

< 2. Andhra Pradesh
< 3. Telangana
X 4. Kerala

Question ID : 65497832181
Status : Answered
Chosen Option : 1

Q.2 A sphygmomanometer is used to measure which of the following?
Ans X 1. Electric current

25 2. Humidity

#< 3. Wind

" 4. Blood pressure

Question ID : 65497832182
Status : Answered
Chosen Option : 2




Q.3 Which of the following chemicals is used to cause artificial rain (cloud seeding)?

Ans X 1.Hydrogen bromide
" 2. Silver iodide

#< 3. Silver oxide

2< 4. Aluminium sulphide

Question ID : 65497832183
Status : Answered
Chosen Option : 1

Q.4 Which of the following statements is NOT true regarding 'Spring tides'?
Ans X 1. These tides are the highest.

" 2. These tides are the lowest.
#< 3. These tides occur on new moon days.

X 4. These tides occur during full moon days.

Question ID : 65497832193
Status : Answered
Chosen Option : 2

Q.5 Besides banks, the other formal major source of cheap credit in rural areas, are:

Ans X 1. money lenders
25 2. zamindars
«" 3. the cooperative societies

< 4. friends and relatives

Question ID : 65497832192
Status : Answered
Chosen Option : 1

Q.6 Jwala Gutta is an Indian professional player.
Ans X 1. football

25 2. table tennis
75 3. tennis
4" 4. badminton

Question ID : 65497832189
Status : Answered
Chosen Option : 2

Q.7 became the first Indian to win a singles match at the US Open in seven
years in September 2020.

Ans  # 1. Sumit Nagal
< 2. Purav Raja
< 3. Divij Sharan
< 4. Yuki Bhambri

Question ID : 65497832177
Status : Answered
Chosen Option : 1




Q.8 Babur defeated Ibrahim Lodi and captured Delhi and Agra in the year .
Ans o 1.1526

X 2.1694
X 3.1467
X 4.1372

Question ID : 65497832195
Status : Answered
Chosen Option : 1

Q.9 Who among the following cricketers won the Orange Cap in the Indian Premier League
(IPL) 2020?

Ans " 1. KL Rahul
25 2. Jimmy Neesham
25 3. Virat Kohli

#< 4. MS Dhoni

Question ID : 65497832194
Status : Answered
Chosen Option : 1

Q.10 When is the Indian Armed Forces Veterans Day observed annually?
Ans X 1.15July

#< 2.5 December
" 3. 14 January
75 4. 26 October

Question ID : 65497832191
Status : Answered
Chosen Option : 1

Q.11 The Battle of Kohima was fought in 1944 between:
Ans X 1. Japanese forces and Communist Chinese forces

< 2. Royal Burmese Army and British Indian Army
" 3. Imperial Japanese forces and British Indian forces

25 4. Chinese forces and British Indian forces

Question ID : 65497832180
Status : Answered
Chosen Option : 3

Q.12 Which of the following states announced the setting up of a ‘Gau Cabinet’ in
November 2020 for the protection and promotion of cattle?

Ans X 1. Uttar Pradesh
< 2. Chhattisgarh
" 3. Madhya Pradesh
< 4. Bihar

Question ID : 65497832198
Status : Answered
Chosen Option : 1




Q.13 Who among the following won the Men's Singles event at the US Open 2020?
Ans X 1. Alexander Zverev

< 2. Novak Djokovic
«# 3. Dominic Thiem
25 4.Bruno Soares

Question ID : 65497832174
Status : Answered
Chosen Option : 2

Q.14 tax is imposed on transactions that have a negative externality; for example,
pollution.

Ans X 1. Tobin
¥ 2. Pigovian
25 3. Customs
% 4.CTT

Question ID : 65497832185
Status : Answered
Chosen Option : 2

Q.15 Mahashay Dharampal Gulati, who passed away in December 2020, was the owner of
iconic spice brand

Ans X 1.Badshah
& 2. MDH
< 3. Everest
< 4. Catch

Question ID : 65497832188
Status : Answered
Chosen Option : 2

Q.16 Which among the following terms denotes to the hilly parts of the Karnataka plateau?
Ans X 1.Bugyals

X 2. Terai
" 3. Malnad
< 4. Bets

Question ID : 65497832187
Status : Answered
Chosen Option : 3

Q.17 The book 'Kashmir's Untold Story: Declassified' was written by:
Ans o 1.Igbal Chand Malhotra and Maroof Raza

< 2. C Uday Bhaskar and GD Bakshi
2% 3. Karan Thapar and Shobhaa De
#< 4. Nandita Haksar and Arundhati Roy

Question ID : 65497832184
Status : Answered
Chosen Option : 2




Q.18 The last Mughal Emperor Bahadur Shah Zafar was imprisoned in Rangoon jail by the
British in the year .

Ans X 1.1885
o 2. 1858
< 3.1826
X 4.1862

Question ID : 65497832196
Status : Answered
Chosen Option : 2

Q.19 As per Census 2011 which one of the following states does NOT fall in the Empowered
Action Group (EAG) states?

Ans X 1.Rajasthan
25 2. Jharkhand
< 3. Bihar
¥ 4. Punjab

Question ID : 65497832178
Status : Not Answered
Chosen Option : --

Q.20 Which of the following dynasties was NOT a part of the Delhi Sultanate?
Ans X 1. Lodhi

7 2. Knhili
" 3. Sur
< 4.Slave

Question ID : 65497832176
Status : Answered
Chosen Option : 3

Q.21 When did the Transgender Persons (Protection of Rights) Act, 2019 come into effect?
Ans X 1. June 2020

< 2. December 2019
" 3. January 2020
< 4. March 2020

Question ID : 65497832190
Status : Answered
Chosen Option : 3

Q.22 In which of the following years was the Buddhist Chanting of Ladakh included in the
UNESCO'S list of intangible cultural heritage?

Ans X 1.2014
o 2.2012
X 3.2016
X 4.2013

Question ID : 65497832186
Status : Not Answered
Chosen Option : --




Q.23 The National Commission for Backward Classes Act, 1993, was repealed by The
National Commission for Backward Classes (Repeal) Act in the year

Ans X 1.2019
o 2.2018
X 3.2017
% 4.2016

Question ID : 65497832197
Status : Answered
Chosen Option : 1

Q.24 What is the dominant substance that makes up the hair, nails and the top layer of skin
in the human body?

Ans X 1.Laminin
#5 2. Collagen
" 3. Keratin
2< 4. F bronectin

Question ID : 65497832175
Status : Answered
Chosen Option : 3

Q.25 The statutory power for exchange control was provided to Reserve Bank of India by
the Foreign Exchange Regulation Act (FERA) of , which was subsequently
replaced by a more comprehensive Foreign Exchange Regulation Act, 1973.

Ans X 1.1953
o 2. 1947
X 3.1967
< 4.1963

Question ID : 65497832179
Status : Answered
Chosen Option : 1

Section : Part C Elementary Mathematics

Q.1 Ifthe height of a right circular cone is 24 m and its slant height is 30 m, then what is the area of its curved surface?

(Use = 2
Ans 1. 1697.143 m?
X'2.1377.423 m?
X3 1778.654 m?
X4 1267.435 m?

Question ID : 65497832220
Status : Answered
Chosen Option : 1




Q.2 By selling an article for T254.38, there is a gain of 10.6%. If it is sold for T224.25, then the loss/gain percentage will be:

Ans .z 1. loss, 2.5%
X 2. gain, 2.5%
X 3. gain, 5%
X 4. loss, 5%

Question ID : 65497832222
Status : Answered
Chosen Option : 1

Q.3 The average of seven consecutive positive integers is 259. If the next five odd numbers are included, then what is the

average of all the numbers (correct to two decimal places)?

Ans  X'1. 260.74
X 2. 259,68
3. 262.33
X 4. 267.89

Question ID : 65497832206
Status : Answered
Chosen Option : 3

Q4 If the number 6523678pq is divisible by 99, the missing digits p and q are:
Ans X 1. p=4,q=4

X2 p=6,q=2
3. p="‘1q=6
X4 p=3,9=35

Question ID : 65497832205
Status : Answered
Chosen Option : 2

Q.5 What is the difference between the compound interest on 3,000 for 1 year at 3% per annum compounded yearly and
that compounded half-yearly?

Ans X1- ?1&
25
#2312
a8
x3 7118
15

% 4 F1E
7

Question ID : 65497832219
Status : Answered
Chosen Option : 2




Q6 Thevalueof3x4+30f24—3 +2x(3—4) X2+6+40f3is:

Ans X1- _35
3

x2 21

3
 FI
3

o 4. 3E

3

Question ID : 65497832221
Status : Answered
Chosen Option : 4

Q.7 The ratio of the number of men and women in a company is 5 : 4. If the number of men and women increase by 16%

and 15%, respectively, then what will be the new ratio of men and women?
Ans  X'1. 20:33
2 20:23
X3 .33:29
X4 23:29

Question ID : 65497832218
Status : Answered
Chosen Option : 2

Q.8 A, BandC can complete a work in 60, 30 and 20 days, respectively. In how many days can A complete the work if he is
assisted by B and C together on every fifth day?

Ans 1. 25
< 2 30
X3 15
X4 35

Question ID : 65497832215
Status : Answered
Chosen Option : 2

Q.9 Two numbers X and Y are such that the sum of 3% of X and 2% of Y is two-third of the sum of 2% of X and 6% of Y.
The ratio of three times of X to two times of Y is:

Ans X'1.4:3
xX25:9
X3 3:4
¥4 9:5

Question ID : 65497832204
Status : Answered
Chosen Option : 4




Q10 1f 8095 of 3/4 of a number is 63, then the number is:

Ans 1. 105
X2 95
<3 115
x4 110

Question ID : 65497832214
Status : Answered
Chosen Option : 1

Q.11 Ifa 10-digit number 643x1145y2 is divisible by 88, then the value of (2x — 3y) for the largest value of y is:

Ans <1 15

X2 27
X3 15
¥4 —27

Question ID : 65497832203
Status : Answered
Chosen Option : 4

Q.12 Akhil drives a car from his home to office at an average speed of 50 km/h and reaches office 10 minutes early. But one
day due to some problem with the car, he could drive at an average speed of 30 knvh only and reached office 10 minutes

late. How far is his office from home?

Ans X1 37.5km
X 2. 30 km
3. 25 km
X4 12.5km

Question ID : 65497832202
Status : Answered
Chosen Option : 3

Q.13 When x is subtracted from each of 43, 38, 11 and 10, then the numbers so obtained in this order are in proportion. What

is the mean proportional between (11x + 3) and (9x —2)?

Ans X 1. 35
X2 25
3. 30
X420

Question ID : 65497832207
Status : Answered
Chosen Option : 3




Q.14 Rameshwar deposited a part of ¥3,28,000 in a bank in the name of his daughter aged 18 years, and the balance in the

name of his son aged 19 years in such a way that they both receive equal amounts when they become 21 years of age. If

the bank gives compound interest at 5% per annum, then how much did he invest in the name of his daughter?

Ans X 1. 1,57.000
X 2. 21,58,000
« 3. %1,60,000
X 4. 21,56,000

Question ID : 65497832200
Status : Answered
Chosen Option : 2

Q.15 During a flight of 900 km, an aircraft was slowed down due to bad weather. Its average speed for the trip was reduced

by 300 knv'h and the time of flight increased by 30 min. The original duration of the flight was:

Ans X1 3h
X2 32h
X3 2h
4 1h

Question ID : 65497832216
Status : Answered
Chosen Option : 4

Q.16 What number must be added to each of the numbers 15, 9 and 5 so that the resulting numbers may be in a continued

proportion?

LU S
X2 4
¥ 3 3
x4 2

Question ID : 65497832210
Status : Answered
Chosen Option : 3

Q.17 By selling 40 dozen bananas for 1,440, a man gains 20%. In order to gain 30%, for how much should he sell 20 dozen

bananas?

Ans 1. 3780
X 2. 31,560
X 3. 7936
x4 3720

Question ID : 65497832199
Status : Answered
Chosen Option : 1




Q.18 The amount obtained by investing a certain sum at r % p.a. for 3 years at simple interest is equal to the simple interest

on the same sum at the same rate for 19 years. What is the value of r?

Ans 1. 6.25
X2 575
X3 4
X4 8

Question ID : 65497832208
Status : Answered
Chosen Option : 1

Q.19 If the selling price of an article is T900 and the discount is 40%, then find its marked price (in ).
Ans X1, 1,200

¢ 2 1,500

X 3. 1,600

X 4. 800

Question ID : 65497832213
Status : Answered
Chosen Option : 2

Q.20 The area of the floor of a cubical room is 192 m2. The length of the longest rod that can be kept in that room is:

Ans X1 18m
X2 22m
¥3 24m
X4 26m

Question ID : 65497832211
Status : Answered
Chosen Option : 3

Q.21 The average weight of 6 persons increases by 1.5 kg when a new person comes in place of one of them who was
weighing 65 kg. What is the weight of the new person?

Ans X 1. 66.5 kg
2 T4kg
X3 76 kg
X4 755kg

Question ID : 65497832212
Status : Answered
Chosen Option : 2




Q.22 Pipes Aand B can empty a full tank in 16 hours and 24 hours, respectively. Pipe C alone can fill the empty tank in 4
hours. If A, B and C are opened together, the tank will be 35% full after:

Ans 1
X113 5 hours

X2 3% hours
W3 2% hours

X 4 2? hours

Question ID : 65497832223

Status : Answered

Chosen Option : 3

Q23 Simplify the following expression.

312+26+60+ (4255 of 4+10)x2
9+(12-20of 4)

Ans 6

412

Question ID : 65497832201

Status : Answered

Chosen Option : 4

Q.24 A wader purchased 360 packets of pencils at the rate of T15 per packet. He sold 60% of the packets at the rate of T18 per
packet and the remaining packets at the rate of ¥20 per packet. What is his gain per cent (up to one decimal place) in
this transaction?

Ans X 1. 25,

3
2 253
K3 252
X4 254

Question ID : 65497832217

Status : Answered

Chosen Option : 2

Q.25 Two successive discounts, with the first being 10%, were given on an article having the marked price of ¥7,500. Finally,
it was sold for ¥5,805. What per cent was the second discount?

Ans X1 12%
X2 15%
X 3. 16%
4 14%

Question ID : 65497832209

Status : Answered

Chosen Option : 4




Section : Part D English

Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Please let me know / whether you decide / to come with me.
Ans X 1.to come with me
75 2. Please let me know
«" 3. whether you decide
#< 4. No error

Question ID : 65497832224
Status : Answered
Chosen Option : 3

Q.2 Select the most appropriate option to fill in the blank.

His condition was so critical that a senior doctor performed the operation.
Ans X 1. yourself

< 2. myself
X 3. itself
+«" 4. himself

Question ID : 65497832234
Status : Answered
Chosen Option : 4

Q.3 Select the most appropriate ANTONYM of the given word.

Detest
Ans X 1. Abhor
¥ 2. Adore
75 3. Reject
X 4. Hate

Question ID : 65497832225
Status : Answered
Chosen Option : 2

Q.4 Select the most appropriate synonym of the given word.

Cruel
Ans X 1. Polite

< 2. Easy
2< 3. Mild
4" 4. Brutal

Question ID : 65497832229
Status : Answered
Chosen Option : 4




Q.5 Select the option that can be used as a one-word substitute for the given group of
words.

A large number of fish swimming together
Ans X 1.Gaggle

< 2. Herd
75 3. Pride
4" 4. Shoal

Question ID : 65497832243
Status : Answered
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.
Hesitate
Ans X 1.Falter
" 2. Advance

75 3. Delay
< 4. Waver

Question ID : 65497832237
Status : Answered
Chosen Option : 2

Q.7 Select the INCORRECTLY spelt word.
Ans 4 1. Robery

#< 2. Rotten
75 3. Rotate
< 4.Round

Question ID : 65497832227
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The old man was too weak that he couldn’t climb the stairs.
Ans X 1.soweakto

7% 2. No substitution required
X 3. very weak to
¥ 4. too weak to

Question ID : 65497832239
Status : Answered
Chosen Option : 4




Q.9 Select the most appropriate option to fill in the blank.
Music is helpful in improvingthe _ of students.
Ans X 1. attraction

4" 2. concentration

#< 3. transfiguration

25 4. solution

Question ID : 65497832231
Status : Answered
Chosen Option : 2

Q.10 Select the option that can be used as a one-word substitute for the given group of
words.

Break or fall apart into small fragments in the process of deterioration

Ans X 1. Collapse
2< 2. Slump

75 3.Sag
" 4. Crumble

Question ID : 65497832226
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate synonym of the given word.
Plead
Ans 4 1. Request
X 2. Repeat
75 3. Refuse

X 4.Reply

Question ID : 65497832242
Status : Answered
Chosen Option : 1

Q.12 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Shilpi has / a keen interest / of learning / a foreign language.
Ans X 1.aforeign language
" 2. of learning
< 3. akeen interest
2< 4. Shilpi has

Question ID : 65497832241
Status : Answered
Chosen Option : 2




Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The inmates of the house are sleep when the thief entered.

Ans X 1. No substitution required
X 2. were sleep
7% 3. are sleeping
" 4. were sleeping

Question ID : 65497832230
Status : Answered
Chosen Option : 4

Q.14 Select the most appropriate meaning of the given idiom.

To break new ground
Ans X 1. To look for a new building

¥ 2. To innovate or pioneer
7% 3. To disturb or interrupt

X 4. To start digging somewhere else

Question ID : 65497832236
Status : Answered
Chosen Option : 2

Q.15 Select the correctly spelt word.
Ans X 1. Precipetation

#< 2. Labaling
«# 3. Procedure
< 4. Precoutions

Question ID : 65497832233
Status : Answered
Chosen Option : 3

Q.16 Select the option that can be used as a substitute for the given group of words.

Hair of animals, which is soft and used for making wool
Ans X 1. Bristles
< 2. Kenosis
o 3. Fur
X 4. Grizzly hair

Question ID : 65497832235
Status : Answered
Chosen Option : 3




Q.17 Select the most appropriate meaning of the given idiom.
To break into tears

Ans  # 1. To cry suddenly

< 2. To fidget

< 3. To panic

25 4. To be afraid of

Question ID : 65497832232
Status : Answered
Chosen Option : 1

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Molly Yvonne didn’t know what to do. She was torn apart with conflicting emotions.
Ans X 1.For

X 2.1n

2% 3. No substitution required

«" 4. By

Question ID : 65497832240
Status : Answered
Chosen Option : 4

Q.19 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Kavya didn’t wanted / any help / in painting.
Ans o 1. Kavya didn’t wanted

2< 2.in painting
7% 3.any help
X 4. No error

Question ID : 65497832228
Status : Answered
Chosen Option : 1

Q.20 Select the most appropriate option to fill in the blank.
The teacher asked us to write our answers
Ans X 1.laudably
X 2. latently
«" 3. legibly
X 4. laughably

Question ID : 65497832238
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans o 1.They

5 2. He
< 3. Who

X4t

Question ID : 65497832245
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1.one

25 2. own

#% 3. his
o 4. their

Question ID : 65497832246
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.

They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.
“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans X 1. weighed

¥ 2. carried
/< 3.sold
#% 4. loaded

Question ID : 65497832247
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans X 1.same

£5 2. some
< 3. other
w4 a

Question ID : 65497832248
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Once, a man and his son were going into town. (1) wanted to sell some potatoes.
They went with (2) donkey, and the donkey (3) the potatoes. While they
walked, (4) man came past on a horse.

“Shame (5) you!” he said. “Why do you have a donkey, but you don’t ride it?”

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 4 1.0n

5 2. at
#< 3.by
< 4. for

Question ID : 65497832249
Status : Answered
Chosen Option : 1

Section : Part D Hindi

Q.1 TE qd-! ATt g BT TAA B
Ans X 1.3919

X 2. 390

« 3.390

X 4. 391

Question ID : 65497832258
Status : Not Answered
Chosen Option : --




Q.2 e ®F &1 WA F e e Iugad g &1 999 B

e wiRfsm——®
Ans X 1 fecHRdl

X 2. Hedhdl
3. TgTerdl
X 4 feafgrdt

Question ID :
Status :
Chosen Option :

65497832256
Not Answered

Q3 ﬁqmmﬂmﬁwmaﬁuﬁmﬂﬁamﬁ%ﬁmmmﬁmmmﬁl
fe 3/ ufaeaTfie #3 #t sraxa®ar 781 8, af ey bt agare o sraxaedr & &

T I B
St %9 T 2 g HioT g 3|
Ans X 1 il 9Ead BT SMaDdl Tel B
o 2. T &1 3ehl gy
X 3 TMADIGY
X 4. By
Question ID : 65497832264
Status : Not Answered
Chosen Option : -
Q.4 3 BT YeTay BT 3 Fa13¢l
Ans X 1. 98 ST
2. A B
X 3. AR BA
X 4. YPREIR AT
Question ID : 65497832260
Status : Not Answered
Chosen Option : —
Q5 3R 3R PRI HvT T8 ordf b geray #1272
Ans X 1. UF-UX & Yiffd g1
o 2. UH-Ug1 faer
X 3. UF-5d R I
X 4. TH-Ba-l
Question ID : 65497832253
Status : Not Answered
Chosen Option : —
Q.6 S T ST T €7 JIT & oY Ue W BNI-
Ans X 1 3F9H
X 2. 3ifafy
X 3.3
o 4. SRIId
Question ID : 65497832266
Status : Not Answered

Chosen Option :




Q.7 f3g e aren ¥ YEfea @e & ufawnfia $3 & e wed sugea Rea sraga s31
Tfe 3 vfaenfid $3 F1 snaxgsar 1e1 €, 9 Ao fodt 9game 9t sawmea 181 &
BT I BN
I w5 ufverdt St §1
Ans X 1 EIdIgl
X 2.7 gl
& 3. T8l
X 4. 53 SadE 31 saaddl el 6l

Question ID : 65497832255
Status : Not Answered
Chosen Option : —

Q.8 T Y weg F W Weg BT T B
=
Ans 1 $R
o 2. GRS
X 3. WA
X 4. TR

Question ID : 65497832263
Status : Not Answered
Chosen Option : —

Q9 gﬁqmmwaﬁmmﬁﬁmﬁﬂéaﬁ%mﬁﬁ%ﬁﬂﬁ%ﬁﬁﬁﬁ%
I

o= ad & (1) A 78 a4 (2 wa oSt @ (3) P IR T E (9)
Ans 1.1
x 2.4
X 3.3
X 4.2

Question ID : 65497832250
Status : Not Answered
Chosen Option : —

Q.10 ﬁqwmﬂﬁlﬁﬁmﬁuﬁwﬁamﬁ%ﬁqaﬂmﬁwwmﬁl
sﬂuﬁwﬁaﬁ FA P! HARTSAT Tel 8, A ey et aqama #t smaxgear & ¥
BT IT DY

€ g3 IAHIE § et Al
Ans X 1. R HIAd
X 2. UdH &a |
¢ 3. fRea ¥
X 4. {58 SgaK @ saaddl Tel ol

Question ID : 65497832261
Status : Not Answered
Chosen Option : —




Q.11 e R B WA & g vl Suge =g 1 999 331

uRad= Calee k!
Ans X 1 T@id
X 2.9 d
« 3. 0Pk
X 4. gl
Question ID : 65497832259
Status : Not Answered
Chosen Option : -
Q.12 UL F 9IS T THT IR & ¢ TS Mg -
Ans 1 WG
X 2. myfa
X 3. 991%
X 4. qdfE
Question ID : 65497832269
Status : Not Answered
Chosen Option : -
Q13 e faeir g gafa 78 82
Ans 1 fER-WDR
X 2. 3399
X 3. 3{a-d-3dd
X 4. PH-IHMH
Question ID : 65497832252
Status : Not Answered
Chosen Option : —
Q.14 13 1T =g F THHET WMeg BT T B
Liaif
Ans 1 gSHAR
X 2. YsUR
X 3.9s9rd
X 4. 39
Question ID : 65497832251
Status : Not Answered
Chosen Option : —

Q15 %qlmmwagmmﬁﬁaﬁﬁiaﬁélﬂﬁ?ﬁéaﬁﬂﬁ%ﬁfﬁiﬁ“ﬁ%

Wege ufeRr (1) S F 2) 6 ¥ @y P IR T ¥ ()

Ans X 1.4
& 2.3
X 3.2
X 4.1

Question ID :
Status :
Chosen Option :

65497832262
Not Answered




Q.16 W& T aTel Mg BT 99 DY
Ans X 1 3ffedid

X 2. sifgfag

3. g

X 4. g

Question ID : 65497832257
Status : Not Answered
Chosen Option : —

Q17 A7 arew F fbw wm A e @2
BE A UpTa P Yoz W BT vl fFar 81
Ans 1 R UMD
X 2. auf fHar gl
X 3.®fdd
X 4. vl ot

Question ID : 65497832267
Status : Not Answered
Chosen Option : —

Q.18 33 73 areaT & fore @ wrfe =g difvm
et sifder Ffdm = &
Ans X 1 @R
X 2. 3R
< 3. 1w

4. oI

Question ID : 65497832254
Status : Not Answered
Chosen Option : —

Q.19 3 Ry a1 ¥ frea-wi WA & R e Suged W &1 999 B30
SG___ weveryn
Ans X 1. 9G9M
X2®/R
3. g
X 4 MW

Question ID : 65497832265
Status : Not Answered
Chosen Option : —

Q.20 I 1 fadi wreg EFTI-
Ans X 1. &R

X 2. Ra
¢ 3.9
X 4. PR

Question ID : 65497832268
Status : Not Answered
Chosen Option : —




Comprehension:

T IRIRG FF AT S geddran (1) 8! o1 HFRID Ja¥ & GHIa-1 U i 9ga- 4
PAPI AR UGN DI(2) I T8l gidl| o «1dl A T & o= Sue, A, (3)
FIE BT WA EA 8, 32 3 B%mamwmﬁmmgqmagaﬂmmg@
@) 33Ed 5T W S TuIs Bl SiURY 95-98 YHIGR dd 9T $d 9ad &
ﬁmmﬁag‘wﬁ:ﬂmﬁ QR H DT IT 316 - G A I8 ST I oL AF -
AR BT P YEIRNG (5)  Jdgax aldi gl

FE st & IR SWIad TR & SHTUR W giforg|

SubQuestion No : 21
Q.21 T & Y ®IF (1) ¥ fore weifie Sugea wee -
Ans X 1 94w
X 2.9d=R
o 3. it
X 4. 9FR

Question ID : 65497832271
Status : Not Answered
Chosen Option : —

Comprehension:

T IRIRG PP AT OIS gedarar (1) 81 o | HFRID da¥ & 9ua-1 4 i aga- 4
AP ARUGAN DI (2) I I8l gidl| o «1dl A T & o= Suer, e, (3)
ST BT+ TG 3, I Sl IR HAIHIRYR W) 5T i T § Al ST X 8
@) 33Ed gU W $S TuIsh Bl SiURY 95-48 YHIGR dd 9T $d dad &
& 376 ar ¥ ag%wesﬂqﬂ QR H DT 3T 316 - G A I ST I oL A -
AN BT HFYIEINRG (5) A S aidi ol

70 Ul & IR SWRId T & YR R GIoig |
SubQuestion No : 22
Q.22 e & e i (2) ¥ forg waffie Iuge e grm-
Ans X 1.¢9RY
« 2.9led
X 3. fewa
X 4.7

Question ID : 65497832272
Status : Not Answered
Chosen Option : —

Comprehension:

ngmmﬁwwg@ﬁm%gzﬁmm T 81| TR F0 &I gHIGT ¥ M 9gd-
AP ARUGAENDI(2) I I8l gidi| o «1dl & T & & Suer, A, (3)
3R BT YT @Al 8, 32 3 a%mmwwmmgqmagaﬂmmgﬁa
Tl@)_  efiEd gu i oo Uush Bl SR 9393 YHIGR dd SUIIE $d 9ad &
Wmmﬁagiw—%amﬂ Eﬂ?ﬂﬁm%mm G A I8 ST 39 ¢ A -

TR ST HY TEIRRS (5) AR gl gl

70 Ul & IR IWRIed T & YR R GIoig |
SubQuestion No : 23
Q.23 TR & e WM (3) ¥ forg waifie Iugea wes 8-
Ans X 1 7™
2. 3UHH
X 3.9WH

X 4.5fa

Question ID : 65497832273
Status : Not Answered
Chosen Option : -



Comprehension:

T IRIRG FF AT S geddran (1) 8! o1 HFRID Ja¥ & GHIa-1 U i 9ga- 4
PAPI AR UGN DI(2) I T8l gidl| o «1dl A T & o= Sue, A, (3)

3 BT YT QAT §, 32 3 a%mmwmmmgmaga@mmg@a
@) 33Ed 5T W S TuIs Bl SiURY 95-98 YHIGR dd 9T $d 9ad &
ﬁmmﬁag‘{a’%m QR H DT IT 316 - G A I8 ST I oL AF -
AR BT P YEIRNG (5)  Jdgax aldi gl

5 Ugil & IaR SWIdd TR & MUR TR i
SubQuestion No : 24

Q.24 T & fYaa I (4) ¥ fore waifie Suged wee 8-

X 1. ygaR
X 2. W&
X 3. Hiwoy
4. Ud

Question ID : 65497832274
Status : Not Answered
Chosen Option : —

Comprehension:
ﬁmmﬂﬁﬁtﬁ%sﬁmm 8 1| TFRID Ja & 9uTaT 4 i 9ga- 9
AP ARUGAN DI (2) I I8l gidl| o «1dl A T & o= Suer, e, (3)
ST BT+ TG 3, I Sl IR HAIHIRYR W) 5T i T § Al ST X 8
@) 33Ed gU W $S TuIsh Bl SiURY 95-48 YHIGR dd 9T $d dad &
& 376 ar ¥ ag%aa—%amﬂ QR H DT 3T 316 - G A I ST I oL A -
ARG PEIEIRNG (5) A SedR ol gl

7 Usil & IR SWIdd TR & MUR T o
SubQuestion No : 25

Q.25 TR ¥ Raa wiF (5) F Rre walfte Sugea weg -

Ans

& 1. T
xX2gd
X 3. 3
X 4. Ot

Question ID : 65497832275
Status : Not Answered
Chosen Option : —




